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1. Skills required for administrators of an organisation are  
J¸ {ÖÁÚzvß {ºÁõQPÐUSz ÷uøÁ¯õÚ vÓßPÒ 

(A) Technical, human, conceptual and design 
 öuõÈÀ~m£®, ©Ûu, P¸zx ©ØÖ® ÁiÁø©¨¦  

(B) Planning, organising, staffing, directing and controlling 

 vmhªhÀ, JÊ[Pø©zuÀ, £o¯õÍºPøÍ {¯ªzuÀ, C¯USuÀ 
©ØÖ® Pmk¨£kzxuÀ 

(C) Interpersonal, Informative and decision making 
 uÛ¨£mh, uPÁÀ ©ØÖ® •iöÁk¨£x  

(D) Effective and efficient administrative skills 
 £¯ÝÒÍ ©ØÖ® vÓø©¯õÚ {ºÁõP vÓßPÒ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. While guiding organisation members in appropriate directions, a
manager exhibits  
{ÖÁÚ EÖ¨¤ÚºPøÍ \›¯õÚ vø\PÎÀ ÁÈ |hzx® ÷£õx, J¸ ÷©»õÍº 

—————— |hzøuø¯ Põm]¨£kzxQÓõº. 

(A) Authoritarian behaviour  (B) Leadership behaviour 

 BvUP® ö\¾zx® |hzøu  uø»ø©zxÁ® |hzøu 

(C) Administrative behaviour (D) Humanistic behaviour 
 Bm]•øÓ \õº¢u |hzøu  ©Ûu ÷|¯ªUP |hzøu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. Arrange the following events in chronological order 
¤ßÁ¸® {PÌÄPøÍ Põ» Á›ø\¨£i J¸[Pø©UPÄ® 

(1) Contingency Approach 
 uØö\¯À AqS•øÓ 

(2) Behavioural Approach  
 |hzøu AqS•øÓ 

(3) Systems Approach 
 Aø©¨¦ AqS•øÓ 

(4) Human Relations Approach 
 ©Ûu EÓÄ AqS•øÓ 

(5) Administrative management 
 {ºÁõP ÷©»õsø© 

(A) (5), (3), (4), (2), (1) (B) (5), (4), (2), (3), (1) 

(C) (4), (5), (2), (3), (1) (D) (4), (5), (2), (1), (3) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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4. The only way to expand productivity according to scientific
management theory was to 
AÔÂ¯À ÷©»õsø© ÷Põm£õmiß £i EØ£zv vÓøÚ AvP›¨£uØPõÚ 
J÷μ ÁÈ 

(A) Raise the efficiency of workers  
 öuõÈ»õÍºPÎß ö\¯ÀvÓøÚ E¯ºzxuÀ 

(B) Scientifically select the workers 

 AÔÂ¯À Ÿv¯õP öuõÈ»õÍºPøÍ ÷uº¢öuk¨£x   

(C) Improve cooperation between management and labour    
 {ºÁõP® ©ØÖ® öuõÈ»õÍºPÐUQøh÷¯ JzxøÇ¨ø£ 

÷©®£kzxuÀ 

(D) Abandoning the differential rate system  
 ÷ÁÖ£mh ÂQu •øÓø¯ øPÂkuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. Henry Fayol formulated the principle —————— where he 
believed that managers should retain final responsibility, but should
at the same time give their subordinates enough authority to do
their jobs properly. 
öíßÔ L÷£õ¯À, ÷©»õÍºPÒ CÖv ö£õ¸¨ø£ uUPøÁzxUöPõÒÍ 
÷Ásk® GßÖ |®¤°¸¢uõº, BÚõÀ A÷u ÷|μzvÀ u[PÒ RÌ{ø» 
£o¯õÍºPÐUS AÁºPÎß ÷Áø»PøÍ \›¯õP ö\´¯ ÷£õx©õÚ 
AvPõμzøu ÁÇ[P ÷Ásk® GßÖ |®¤Úõº 

(A) Authority  
 AvPõμ® 

(B) Hierarchy 

 £i{ø»   

(C) Subordination of individual interest to common good 
 ö£õx |»Ýsk uÛ|£º |»øÚ RÌ£kzxuÀ  

(D) Centralization 
 ø©¯¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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6. Which of the following is/are not acceptable principles for modern
business organisations? 
¤ßÁ¸ÁÚÁØÖÒ Gx |ÃÚ ÁoP Aø©¨¦UPõÚ HØÖUöPõÒÍ •i¯õu 
öPõÒøPPÒ? 

(1) Using participative decision making 
 £[÷PØ¦ •iöÁk¨£øu¨ £¯ß£kzxuÀ 

(2) Setting a personal example 
 uÛ¨£mh •ß©õv›  

(3) Acting as a conduit for cutting edge ideas 
 ÂÎ®¦ ÷¯õ\øÚPøÍ Aø©¨£uØPõÚ ÁÈzuh©õP ö\¯À£kQÓx 

(4) Ensuring spread of knowledge  
 AÔÂß £μÁø» {ÖÄuÀ 

(5) Establishing two-way communication 
 C¸ÁÈ öuõhºø£ {ÖÄuÀ 

(6) Using formal management tools 
 •øÓ¯õÚ ÷©»õsø© P¸ÂPøÍ¨ £¯ß£kzxuÀ 

(A) (2) and (3) only (B) (3) only 

 (2) ©ØÖ® (3) ©mk®  (3) ©mk® 

(C) (6) only (D) (4) and (6) only 
 (6) ©mk®  (4) ©ØÖ® (6)  ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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7. Which principle of management emphasizes the need for unity of
command? 
G¢u ÷©»õsø©U ÷Põm£õk AvPõμ J¸ª¨¦ AÁ]¯zøu 
Á¼²ÖzxQÓx? 

(A) Unity of direction (B) Scalar chain 

 J¸ªzu ÁÈPõmhÀ  AÍÂhÀ AqÁø©¨¦ 

(C) Division of work (D) Espirit de corps 
 ÷Áø»ø¯¨ £Qº¢uÎzuÀ  ÷uõÇø© EnºÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. Which one of the following is not a recognised key skill of
management?  
RÌUPshÁØÖÒ Gx {ºÁõPzvß •UQ¯ vÓø©¯õP 
A[RP›UP¨£hÂÀø»? 

(A) Conceptual skills (B) Human skills 

 P¸zx vÓß  ©Ûu vÓß 

(C) Writing skills (D) Technical skills 
 GÊzx vÓß  öuõÈÀ~m£z vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Which of the following is not a valid argument against the
universality concept of management? 
RÌUPshÁØÖÒ Gx ÷©»õsø©°ß E»PÍõÂ¯ P¸zxUS GvμõP 
øÁUP¨£k® Áõu[PÎß \›¯õÚuÀ»õux Gx? 

(1) Differences in objectives 
 ÷|õUP[PÎß ÷ÁÖ£õkPÒ 

(2) Transferability of management skills 
 ÷©»õsø© vÓßPÎß £›©õØÓ® 

(3) Differences in philosophies 
 uzxÁ[PÎÀ EÒÍ ÷ÁÖ£õkPÒ 

(4) Management in culture-bound 
 P»õa\õμ GÀø»USÒ Pmk¨£õk 

(A) 2 (B) 1 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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10. Which of the following is not a character of an excellent enterprise? 
¤ßÁ¸ÁÚÁØÔÀ Gx ]Ó¢u {ÖÁÚzvß ußø© AÀ»? 

(A) Learned about the needs of their customers 
 u[PÒ ÁõiUøP¯õÍ›ß ÷uøÁPøÍ¨ £ØÔ AÔ¢x öPõshÚº  

(B) Promoted managerial autonomy and leadership  
 {ºÁõP _¯õm] ©ØÖ® uø»ø©zxÁzøu ÷©®£kzv¯x   

(C) Focused on the business they knew best 
 AÁºPÒ |ßS AÔ¢u ÁoPzvÀ PÁÚ® ö\¾zvÚº  

(D) Had a appropriate organisational structure 
 ö£õ¸zu©õÚ {ÖÁÚ Aø©¨¦ C¸¢ux 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. Which step in the process of MBO involves reviewing job agreements
and developing performance standards? 
SÔU÷PõÐøh¯ ÷©»õsø© G¢u £i {ø»°À ÷Áø» Ehß£iUøPPøÍ 
©Ö£›^»øÚ ö\´Áøu²®, ö\¯ÀvÓß uμ[PøÍ E¸ÁõUSÁøu²® 
EÒÍhUQ¯x? 

(A) Determining organisational objectives 
 {ÖÁÚ C»USPøÍ {ºn°zuÀ  

(B) Translating organisational objectives to employees 

 {ÖÁÚ C»USPøÍ £o¯õÍºPÐUS ©õØÖuÀ   

(C) Stimulating employee participation in objective setting  
 C»USPøÍ {ºn°¨£vÀ £o¯õÍºPÎß £[÷PØø£ FUSÂzuÀ  

(D) Ongoing performance discussions 
 |h¨¦ ö\¯ÀvÓß ÂÁõu[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. Which of the following is the most popular approach to produce
results? 
¤ßÁ¸ÁÚÁØÔÀ Gx •iÄPøÍ E¸ÁõUSÁuØPõÚ ªPÄ® ¤μ£»©õÚ 
AqS•øÓ¯õS®? 

(A) Management by objectives  

 SÔU÷PõÐøh¯ ÷©»õsø© (MBO)   

(B) Rewards system 
 öÁS©v •øÓ 

(C) Management by exception  
 ÂvÂ»USøh¯ ÷©»õsø© (MBE)    

(D) Consultative method 
 B÷»õ\øÚ •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

13. In the MBO process, what is the purpose of setting smart objectives?
SÔU÷PõÐøh¯ ÷©»õsø©°ß ö\¯À•øÓ°À SMART C»USPøÍ 
{ºn°¨£uß ÷|õUP® GßÚ? 

(A) To confuse employees  

 £o¯õÍºPøÍ SÇ¨£   

(B) To align goals with the organisation’s mission 
 {ÖÁÚzvß SÔU÷PõÒ Áõ\Pzxhß C»USPøÍ ^μø©zuÀ 

(C) To discourage innovation  
 ¦xø©PøÍ FUPSøÓ¨£kzxuÀ   

(D) To limit autonomy 
 £o¯õÍ›ß _¯õm]ø¯ Pmk¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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14. Which factor is crucial for the successful implementation of MBO? 
SÔU÷PõÐøh¯ ÷©»õsø©ø¯ öÁØÔPμ©õP ö\¯À£kzu G¢u Põμo 
•UQ¯©õÚx? 

(A) Centralised decision making  

 ø©¯¨£kzu¨£mh •iöÁkUS® •øÓ   

(B) Limited employee autonomy 
 SøÓÁõÚ £o¯õÍ¸US ©mk÷© _¯õm] 

(C) Clear communication  
 öuÎÁõÚ uPÁÀ öuõhº¦   

(D) Strict performance punishment 
 Pkø©¯õÚ ö\¯ÀvÓß ushøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

15. One of the earliest management thinkers to use the terms MBO
(Management By Objectives) 
SÔU÷PõÐøh¯ ÷©»õsø© (MBO) GßÓ ö\õÀø» £¯ß£kzv¯ 
•¢øu¯ ÷©»õsø© ]¢uøÚ¯õÍºPÎÀ J¸Áº 

(A) Peter Drucker (B) Heinz Weihrich 

 ¥mhº iμUPº  öí´ßì öÁ´›a 

(C) Harold Koontz (D) Portal 
 í÷μõÀm Tsmì  ÷£õºmhÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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16. The composite plan which involves setting up a long term objective,
finding a course of action and allocation of resources is called 
}shPõ» C»UøP {ºn°zuÀ, ö\¯À£õmiß ÷£õUøP PshÔuÀ ©ØÖ® 
ÁÍ[PøÍ JxUSuÀ BQ¯ÁØøÓ EÒÍhUQ¯ Tmk vmh® ——————
GßÖ AøÇUP¨£kQÓx. 

(A) Programme (B) Strategy 

 vmh®  Ezv 

(C) Procedure (D) Policy 
 ö\¯À•øÓ  öPõÒøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

17. Effective motivation in the organisation does not contribute towards 
{ÖÁÚzvÀ £¯ÝÒÍ FUSÂzuÀ CuØS £[PÎUPõx  

(A) Developing performance levels of employees 
 FÈ¯ºPÎß ö\¯ÀvÓß {ø»PøÍ ÷©®£kzxuÀ 

(B) Helping to reduce employee turnover  
 £o¯õÍº _ÇØ]ø¯ SøÓUP EuÄuÀ 

(C) Resistance to changes in the organisation  
 {ÖÁÚzvÀ HØ£k® ©õØÓ[PÐUS Gvº¨¦ 

(D) All the above  
 ÷©÷» EÒÍ AøÚzx®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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18. The standardised way in which a task has to be performed is called 
J¸ £oø¯a ö\´¯ ÷Ási¯ uμ¨£kzu¨£mh ÁÈ•øÓ ¤ßÁ¸©õÖ 
AøÇUP¨£kQÓx  

(A) Procedure (B) Strategy 

 |øh•øÓ  Ezv 

(C) Policy (D) Method  
 öPõÒøP  •øÓ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

19. Who coined the concept of “Economic Value Added”?  
“]UPÚ ÷\ºUøP ©v¨¦” GßÓ P¸zøu E¸ÁõUQ¯Áº ¯õº? 

(A) Joel Stern (B) Rosser Reeves  
 ÷áõ¯À ìöhºß  ÷μõìéº ŸÆì 

(C) Christian Gronroos (D) Neil. H. Borden  
 QÔìi¯ß U÷μõß¹ì  }À. Ga. ÷£õºöhß  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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20. This theory has dealt mainly with anatomy as formal organisation  
C¢u ÷Põm£õk •UQ¯©õP •øÓ¯õÚ Aø©¨¤ß EhØTÔ¯À 
öuõhº£õÚx 

(A) Classical organisation theory 
 £õμ®£›¯ Aø©¨¦ ÷Põm£õk 

(B) Neo – Classical theory  
 ¦v¯ – £õμ®£›¯ ÷Põm£õk 

(C) Systems organisation theory 
 •øÓø© Aø©¨¦ ÷Põm£õk 

(D) Contingency theory 
 uØö\¯À {PÌÄ ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. Validity in research refers to  
©v¨¦ Bμõ´a] Gß£x Gøu SÔUQÓx 

(A) The rigour of the study 
 B´Âß Pkø© 

(B) Procedures applied to find solutions  
 wºÄPøÍU PshÔ¯¨ £¯ß£kzu¨£k® |øh•øÓPÒ 

(C) Procedures that provide repeatability and accuracy 
 «sk® {PÌuPÄ ©ØÖ® xÀ¼¯zøu ÁÇ[S® |øh•øÓPÒ 

(D) Academic discipline been trained  
 PÀÂ JÊUP® £°Ø]  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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22. A particular research-design step is inadequately assessing the
required scope is  
÷uøÁ¯õÚ ÷|õUPzøu ©v¨¥k ö\´¯ SøÓÁõP EÒÍ {ø» 

(A) Tripping point (B) Credibility  
 uk©õØÓ¨ ¦ÒÎ  ¤μõ©õo¯® 

(C) Reliability (D) Empirical  
 |®£Pzußø©  AÝ£Á§ºÁ©õÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. The way in which companies conduct their research and how they
collect the data they need is ___________ concept. 
Cx {ÖÁÚ[PÒ u[PÒ Bμõ´a]ø¯ GÆÁõÖ |hzxQßÓÚ Gß£øu²®, 
AÁºPÐUSz ÷uøÁ¯õÚ uμøÁ GÆÁõÖ ÷\P›UQÓõºPÒ Gß£øu²® 
SÔUQÓx –––––––––– GÚ¨£k®. 

(A) Research Methodology  (B) Marketing  
 Bμõ´a] •øÓø©  \¢øu¨£kzuÀ 

(C) Survey (D) Pilot Study  
 B´Ä  ø£»m B´Ä  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. A possible solution to a problem based on research and knowledge 
means  
Bμõ´a] ©ØÖ® AÔÂß Ai¨£øh°À J¸ ¤μa\øÚUS J¸ \õzv¯©õÚ 
wºÄ –––––––––– ÁÈ•øÓ¯õS®. 

(A) Observation (B) Hypothesis 

 PsPõo¨¦  P¸x÷PõÒ 

(C) Prediction (D) Experimentation  
 •ßÚÔÂ¨¦  £›÷\õuøÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. Which of the following statements are not the purpose of literature
review? 
¤ßÁ¸® G¢u AÔUøPPÒ C»UQ¯¨ £›^»øÚ°ß ÷|õUP® AÀ»? 

(A) Provide foundation of knowledge on topic 
 uø»¨¦ SÔzu AÔÂß AizuÍzøu ÁÇ[SuÀ 

(B) Identify inconstancies and gap in research   
 Bμõ´a]°À EÒÍ •μs£õkPÒ ©ØÖ® CøhöÁÎPøÍU PshÔuÀ

(C) Justifying your research 
 E[PÒ Bμõ´a]ø¯ {¯õ¯¨£kzxuÀ 

(D) Essay/Report of entire article  
 •Ê PmkøμUPõÚ Pmkøμ/AÔUøP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. The Mean and Mode of some data are 4 and 10 respectively its
Median will be 
]» uμÄPÎß Cøh{ø» ©ØÖ® •øÓ, •øÓ÷¯ 4 ©ØÖ® 10 BP 
C¸¢uõÀ, Auß Aøμ©® GßÚ? 

(A) 1.5 (B) 5.3 

(C) 16 (D) 6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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27. Determine the Arithmetic Mean of salaries of the employees : 
Employees No : 1 2 3 4 5 6 7 

Monthly Salary : 12,000 14,500 8,500 13,500 13,500 17,500 11,500
FÈ¯ºPÎß \®£Ízvß GsPou \μõ\›ø¯ wº©õÛUPÄ® : 

FÈ¯ºPÒ : 1 2 3 4 5 6 7 

©õu \®£Í® : 12,000 14,500 8,500 13,500 13,500 17,500 11,500

(A) 17,500 (B) 13,000 

(C) 13,500 (D) 14,500 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. The extent to which data is scattered about the zone of “Central
tendency” is known as : 
“ø©¯¨ ÷£õUS” ©sh»zøu¨ £ØÔ¯ uμÄ G¢u AÍÂØS 
]uÓiUP¨£mkÒÍx Gß£x AÔ¯¨£kQÓx? 

(A) Dispersion  (B) Median 

 (]uÓÀ) {Ó¨¤›øP  Cøh{ø» 

(C) Arithmetic Mean (D) Geometrical Mean 
 Tmk \μõ\›  ÁiÂ¯À \μõ\› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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29. The following are examples of interdependence method of analysis
except  
¤ßÁ¸ÁÚÁØÔÀ Gx JßÖUöPõßÖ \õº¢v¸US® £S¨£õ´Ä •øÓ°ß 
GkzxUPõmk –––––––––– AÀ». 

(A) Factor Analysis (B) Cluster Analysis 

 Põμo £S¨£õ´Ä  öPõzx¨ £S¨£õ´Ä 

(C) Multi dimensional scaling (D) Conjoint Analysis 
 £»£›©õn AÍÂkuÀ  Tmk £S¨£õ´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. In which of the following, reporting format is formally prescribed? 
¤ßÁ¸® AÔUøP°hÀ ÁiÁ[PÎÀ Gx •øÓ¯õP £›¢xøμUP¨£kQÓx? 

(A) Doctoral level thesis    
 •øÚÁº {ø» B´ÁÔUøP   

(B) Conference of researchers  
 Bμõ´a]¯õÍºPÎß ©õ|õk 

(C) Workshops and seminars   
 £mhøÓPÒ ©ØÖ® P¸zuμ[SPÒ   

(D) Symposia  
 ]®÷£õ]¯õ (P¸zuμ[SPÒ) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. Given below are two Statements, Identify the correct statement : 
R÷Ç Cμsk AÔUøPPÒ öPõkUP¨£mkÒÍÚ, \›¯õÚ AÔUøPø¯ 
Psh›¯Ä®. 

Statement I  : The research questions should be linked to each 
other. 

ÁõUQ¯® I : Bμõ´a] ÷PÒÂPÒ Jß÷ÓõöhõßÖ CønUP¨£h 
÷Ásk® 

Statement II : The research questions should be either broad or 
narrow. 

ÁõUQ¯® II : Bμõ´a] ÷PÒÂPÒ £μ¢u AÀ»x SÖQ¯uõP C¸UP 

÷Ásk®. 

(A) Both Statement I and Statement II are true 

 ÁõUQ¯® I ©ØÖ® ÁõUQ¯® II Cμsk® Esø© 

(B) Both Statement I and Statement II are false 

 ÁõUQ¯® I ©ØÖ® ÁõUQ¯® II Cμsk® uÁÖ 

(C) Statement I is true but Statement II are false 

 ÁõUQ¯® I Esø© BÚõÀ ÁõUQ¯® II uÁÖ 

(D) Statement I is false but Statement II are true  

 ÁõUQ¯® I uÁÖ BÚõÀ ÁõUQ¯® II Esø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. Identify the correct sequence of empirical steps in the linear model 
of the research process is  
Bμõ´a] ö\¯À•øÓ°ß ÷|›¯À ©õv›°À \›¯õÚ öuõhºa]¯õÚ 
£iPøÍ Aøh¯õÍ® PõnÄ®. 
(A) Sampling – Theory – Interpretation – Collection – Validation –

Hypothesis 
 ©õv› – ÷Põm£õk – ÂÍUP® – ÷\P›¨¦ – \›£õº¨¦ – P¸x÷PõÒPÒ

(B) Theory – Hypothesis – Sampling – Collection – Interpretation 
– Validation 

 ÷Põm£õk – P¸x÷PõÒPÒ – ©õv› – ÷\P›¨¦ – ÂÍUP® – \›£õº¨¦

(C) Validation – Theory – Hypothesis – Collection – Sampling –
Interpretation  

 \›£õº¨¦ – ÷Põm£õk – P¸x÷PõÒPÒ  – ÷\P›¨¦ – ©õv› – ÂÍUP®

(D) Collection – Sampling – Hypothesis – Theory – Interpretation 
– Operationalization  

 ÷\P›¨¦ – ©õv› – P¸x÷PõÒPÒ – ÷Põm£õk – ÂÍUP® –
ö\¯À£õmkUSU öPõsk Á¸uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. All cause non sampling errors except:  
JßøÓz uÂμ, AøÚzx® ©õv› AÀ»õu ¤øÇPøÍ HØ£kzxQßÓÚ 

(A) Faulty tools of measurement  

 uÁÓõÚ AÍÃmk P¸ÂPÒ   

(B) Inadequate sample 
 ÷£õx©õÚ ©õv› CÀø» 

(C) Defect in data collection  
 uμÄ ÷\P›¨¤À SøÓ£õk   

(D) Non response 
 £v»ÎUPõuÁºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. The process is not needed in experimental researcher is 
÷\õuøÚ Bμõ´a]¯õÍ¸US C¢u ö\¯À•øÓ ÷uøÁ°Àø» _________
BS®. 

(A) Controlling  

 Pmk¨£kzuÀ   

(B) Observation 
 PsPõo¨¦ 

(C) Manipulation and replication  
 øP¯õÐuÀ ©ØÖ® CμmizuÀ   

(D) Reference collection 
 SÔ¨¦ ÷\P›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. The critical difference between experimental and expost facto
research lies in terms of 
£›÷\õuøÚ ©ØÖ® GUìö£õìm L÷£U÷hõ Bμõ´a]US Cøh÷¯¯õÚ 
•UQ¯©õÚ ÷ÁÖ£õk _________ BS®. 

(A) Selection of sample  

 ©õv›PøÍ ÷uº¢öuk¨¦   

(B) Casual connection between two variables 
 Cμsk ©õÔPÒ Cøh÷¯ Põμn öuõhº¦ 

(C) Use of research tools  
 Bμõ´a]U P¸ÂPøÍ¨ £¯ß£kzxuÀ   

(D) Control and manipulation of independent variables 
 _u¢vμ ©õÔPÎß Pmk¨£õk ©ØÖ® øP¯õÐuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   385 – Business Administration 
  [Turn over 

23

36. A statement which assert probable answers to research questions
and in a simplest form is guess  
Bμõ´a] ÷PÒÂPÐUS \õzv¯©õÚ £vÀPøÍ EÖv¨£kzx® J¸ AÔUøP 

©ØÖ® GÎø©¯õÚ ÁiÁzvÀ Cx J¸ ³P® —————— GßÖ TÓ»õ® 

(A) Hypothesis (B) Problem process 

 P¸x÷PõÒ  ]UPÀ ö\¯À•øÓ 

(C) Unit analysis (D) Relevant variables 
 A»S £S¨£õ´Ä  öuõhº¦øh¯ ©õÔPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. The problem definition stage of the research process probably is
most important but often neglected by the researcher who said this
statement?  
Bμõ´a] ö\¯À•øÓ°ß ]UPÀ Áøμ¯øμ {ø» ªP •UQ¯©õÚuõP 
C¸UP»õ® BÚõÀ ö£¸®£õ¾® Bμõ´a]¯õÍμõÀ ¦ÓUPoUP¨£kQÓx 
GßÖ ¯õμõÀ ö\õÀ»¨£mhx? 

(A) Kerlinger (B) Zikmund 

 öPº¼[Pº  âU©sm 

(C) Francis Bacon (D) Martin Shuttleworth 
 ¤μõß]ì ÷£UPß  ©õºmiß åmiÀöÁõºz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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38. Arrange them in a logical sequence involves step in process of
problem definition : 
•øÓ¯õÚ uºUP Ÿv°À AÁØøÓ Á›ø\¨£kzxÁx ]UPÀ Áøμ¯øÓ°ß 
ö\¯À£õmiÀ EÒÍ £iPøÍ EÒÍhUQ¯x: 
(a) Identify key problem 
 •UQ¯ ¤μa]øÚPøÍ Aøh¯õÍ® PõnÄ® 
(b) Determine the unit of analysis  
 £S¨£õ´Ä A»S wº©õÛUPÄ®  
(c) Isolate and identify the problem not symptoms   
 AÔSÔPøÍ AÀ», ¤μa]øÚø¯ Aøh¯õÍ® PsköPõÒÐ[PÒ 

(d) Determine the relevant variables   
 ö£õ¸zu©õÚ ©õÔPÒ wº©õÛUP   

(A) (a), (b), (d), (c) (B) (a), (c), (b), (d) 

(C) (a), (d), (c), (b) (D) (a), (b), (c), (d) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

39. To set the purpose and focus of the research with the fundamental
questions 
E£÷¯õPzøu²® ©ØÖ® £õºøÁ²® Aø©zx Bμõ´a]°ß £i Ai¨£øh 
÷PÒÂPøÍ E¸ÁõUSÁx _________ GÚ¨£k®. 

(A) Research design (B) Research objectives 

 B´Ä ÁiÁø©¨¦  Bμõ´a] ÷|õUP[PÒ 

(C) Research methodology (D) Research problem 
 Bμõ´a] •øÓ  Bμõ´a] ]UPÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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40. The research, it is related to preliminary survey or pilot survey is
called 
§ºÁõ[P B´Ä ©ØÖ® uø»ø© B´Ä öuõhº¦øh¯ Bμõ´a]ø¯ _________
BS®. 

(A) Motivational research (B) Artistic research 

 E¢xuÀ Bμõ´a]  Pø» B´Ä 

(C) Social research (D) Humanities research 
 \‰P B´Ä  ©Ûu AÔÂ¯À Bμõ´a] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

41. Which accounting concept ensures that expenses should be 
recognised in the same period as the revenues they help to generate 
ö\»ÂÚ[PÒ, AøÁ E¸ÁõUSÁuØS EuÄ® Á¸Áõ´PÐhß J÷μ Põ» 
PmhzvÀ A[RP›UP¨£h ÷Ásk® Gß£øu G¢u PnUQ¯À P¸zx EÖv 
ö\´QÓx? 

(A) Materiality concept (B) Conservation concept 

 ö£õ¸Ò P¸zx  £Çø©ÁõuUP¸zx 

(C) Matching concept (D) Entity concept 
 Jzvø\ÄU P¸zx¨ £i©®  {ÖÁÚU P¸zx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. Journal is also called a  
SÔ¨÷£miß ©ØöÓõ¸ ö£¯º 

(A) A day book (B) History book 

 |õÒ SÔ¨÷£k  Áμ»õØÖ¨ ¦zuP® 

(C) Ledger book (D) An entry book 
 ÷£÷μk ¦zuP®  J¸ £vÄ ¦zuP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. Refer to the left side of ledger account as 
÷£÷μk PnUSPÎß Chx £UPzøu SÔ¨¤kÁx Gx? 

(A) Debit side (B) Credit side 

 £ØÖ¨£UP®  ÁμÄ¨£UP® 

(C) Footing (D) Balance 
 AizuÍ®  C¸¨¦{ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. When furniture is sold for cash, the entry should be made in 
uÍÁõh[PÒ öμõUPzvØS ÂØP¨£k® ÷£õx, C¢u £vÄ ö\´¯¨£h 
÷Ásk® 

(A) Sales book (B) Journal 

 ÂØ£øÚU SÔ¨÷£k  SÔ¨÷£k 

(C) Cashbook (D) Petty cash book 
 öμõUPUPnUS  ]À»øÓU ö\»÷Ák 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. Expenditure on purchase of books, furniture, investments, buildings
etc. is treated as capital expenditure  
¦zuP[PÒ, uÍÁõh[PÒ, FUPzöuõøP, Pmih[PÒ ÷£õßÓÁØøÓ 
Áõ[SÁuØPõÚ ö\»ÄPÒ ‰»uÚa ö\»ÄPÍõPU P¸u¨£kQßÓÚ 

(A) Other capital payments  

 ¤Ó ‰»uÚU öPõk¨£ÚÄPÒ   

(B) Subscription for periodicals 
 £¸Á CuÌPÐUPõÚ \¢uõ 

(C) Other revenue receipts  
 ¤Ó Á¸Áõ´ μ^xPÒ   

(D) Honorarium 
 ©v¨§v¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. This depreciation is charged evenly every year throughout the 
effective life of an asset 
J¸ ö\õzvß £¯ÝÒÍ ÁõÌ|õÒ •ÊÁx® ÷u´©õÚ® JÆöÁõ¸ Bsk® 
\©©õP Á`¼UP¨£kQÓx 

(A) Diminishing balance method  

 ©v¨¦ SøÓ¨¦ {ø»   

(B) Annuity method 
 Põ»¨£i •øÓ 

(C) Sinking fund method  
 ‰ÌS® {v •øÓ   

(D) Straight line method 
 ÷|º÷Põk •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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47. This depreciation method is recognized by Income Tax Authorities
as well as Companies Amendment Act 1998 
C¢u ÷u´©õÚ® •øÓ Á¸©õÚ Á› AvPõ›PÒ ©ØÖ® {ÖÁÚ[PÒ v¸zua 
\mh® 1988 À A[RP›UP¨£mkÒÍx 

(A) Annuity method (B) Depreciation fund 

 BskzöuõøP •øÓ  ÷u´©õÚ {v 

(C) Insurance policy method (D) Written down method 
 Põ¨¥mk öPõÒøP •øÓ  ©v¨¦U SøÓ¨¦ •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

48. The fund contains assets donated by the donor with stipulation that
income earned by these assets  
C¢u ö\õzxUPÍõÀ Dmh¨£mh Á¸©õÚ® GßÓ {£¢uøÚ²hß 
|ßöPõøh¯õÍμõÀ |ßöPõøh¯ÎUP¨£mh ö\õzxUPÒ {v°À EÒÍÚ 

(A) Special fund (B) Capital fund 

 ]Ó¨¦ {v  ‰»uÚ {v 

(C) Endowment fund (D) Donations 
 AÓUPmhøÍ {v  |ßöPõøh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. Bank Reconciliation statement is 
Á[Qa \›Pmk® £mi¯À Gß£x 

(A) ledger account (B) Part of the cash book 

 ÷£÷μk PnUS  öμõUP¨ ¦zuPzvß J¸ £Sv 

(C) a separate statement (D) a sub division of the journal
 J¸ uÛ AÔUøP  SØÔ¨÷£kÂß xøn¨ ¤›Ä

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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50. Preparation of Trial Balance helps deduction of 
C¸¨¦ {ø» SÔ¨ø£ u¯õ›¨£uß •»® 

(A) errors of principle (B) errors of whole omission 

 ö|Ô•øÓ ¤øÇ  ö©õzu Âk ¤øÇ 

(C) errors of compensating (D) clerical errors 
 Dk ö\´²® ¤øÇ  PnUPõÍ›ß ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. What is the purpose of using trial balance? 
C¸¨¦{ø»U SÔ¨ø£ E£÷¯õP¨£kzxÁuØPõÚ ÷|õUP® GßÚ? 

(A) It is a financial statement 
 Cx J¸ {v {ø» AÔUøP  

(B) It records balances of a balance sheet 

 Cx C¸¨¦{ø»U PnUQß C¸¨¦UPøÍ £vÄ ö\´QÓx   

(C) It doesn’t contribute to the accounting cycle  
 Cx PnUQ¯À _ÇØ]US £[PÎUPõx 

(D) It records balances of accounts 
 Cx PnUSPÎß {¾øÁPøÍ £vÄ ö\´QÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. The two methods of preparing a Trail balance are 
C¸¨¦{ø» SÔ¨¦ u¯õ›¨£uØPõÚ Cμsk •øÓPÒ 

(A) Financial method and total method 
 {v•øÓ ©ØÖ® ö©õzu •øÓ 

(B) Total method and normal method 

 ö©õzu •øÓ ©ØÖ® \õuõμn •øÓ   

(C) Balance method and financial method 
 C¸¨¦ •øÓ ©ØÖ® {v•øÓ  

(D) Balance method and total method 
 C¸¨¦ •øÓ ©ØÖ® ö©õzu •øÓ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. What is the usage of utility software? 
£¯ß£õmk ö©ßö£õ¸Îß £¯ß£õk GßÚ? 

(A) It is developed for audit purpose 
 Cx uoUøP ÷|õUPzvØPõP E¸ÁõUP¨£mhx 

(B) Sampling data for testing 

 ÷\õuøÚUPõÚ ©õv› uμÄ   

(C) Performing debugging (or) analysing various aspects of usage 
 ¤øÇzv¸zu® ö\´uÀ AÀ»x £¯ß£õmiß £À÷ÁÖ A®\[PøÍ 

£S¨£õ´Ä ö\´uÀ  

(D) Redoing calculations 
 PnURkPøÍ «sk® ö\´QÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. Audit memorandum is 
uoUøP SÔ¨£õøn Gß£x 

(A) To helps in spotting out extra ordinary expenditure 
 A\õuõμn ö\»ÂÚ[PøÍU PshÔ¯ EuÄQÓx  

(B) To shows the work delegated to staff 

 £o¯õÍºPÎh® J¨£øhUP¨£mh ÷Áø»ø¯U PõmkQÓx   

(C) To allocation of work among joint auditors  
 Tmk uoUøP¯õÍºPÎøh÷¯ £o JxURk 

(D) A statement containing all useful information regarding the 
business of the client 

 ÁõiUøP¯õÍ›ß ÁoP® öuõhº£õÚ AøÚzx £¯ÝÒÍ 
uPÁÀPøÍ²® öPõsh AÔUøP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. The term ‘Audit’ is derived from 
G¢u ö©õÈ°À C¸¢x ‘uoUøP’ GßÖ ö\õÀ ö£Ó¨£mhx 

(A) Greek (B) Roman 

 Q÷μUP®  ÷μõ©ß 

(C) Latin (D) Egypt 
 »zwß  GQ¨x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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56. From the following which is not a wasting assets 
¤ßÁ¸ÁÚÁØÔÀ G¢u JßÖ ÃnõÚ ö\õzx AÀ»? 

(A) Mines (B) Quarries 

 _μ[P[PÒ  SÁõ›PÒ 

(C) Oil–Wells (D) Goodwill 
 Gsön´UQnÖ  öuõÈÀ |ß©v¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

57. Which of the following are main objective of manufacturing account?
¤ßÁ¸ÁÚÁØÔÀ Gx |h¨¦U PnUS {ºÁõPzvß •UQ¯ ÷|õUP©õS®? 

(1) Cost of finished goods produced 
 u¯õ›UP£mk •iUP¨£mh ö£õ¸mPÎß Âø» 

(2) Cost of goods sold 
 ÂØÓ ö£õ¸mPÎß öPõÒ•uÀ Âø» 

(3) Constituent items there of such as cost of material consumer 
 ~Pμ¨£k® ö£õ¸Îß Âø» ÷£õßÓ ‰»UTÖ ö£õ¸ÒPÒ 

(4) To show the net profit earned 
 {Pμ »õ£zøu Põmh 

(A) (3) only (B) (1) and (3) only 

 (3) ©mk®  (1) ©ØÖ® (3) ©mk® 

(C) (1) and (2) only (D) (2) and (4 ) only 
 (1) ©ØÖ® (2) ©mk®  (2) ©ØÖ® (4) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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58. All expenses and gains are transferred either to trading or profit
and loss account 
AøÚzx ö\»ÄPÒ ©ØÖ® »õ£[PÒ ÁºzuP® AÀ»x »õ£ |èh PnUQÀ 
©õØÓ¨£k®  

(A) Posted in a liabilities  
 ö£õÖ¨¦PÎÀ £vÄ ö\´¯¨£mhx 

(B) Adjustment of entries 

 EÒÏkPøÍ \›ö\´uÀ 

(C) Opening entries  
 öuõhUP £vÄPÒ 

(D) Closing entries 
 CÖv¨ £vÄPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. Vendors in such cases they have made changes of receiving the 
discount at the end of the accounting year 
GzuøP¯ \¢uº¨£[PÎÀ ÂØ£øÚ¯õÍºPÒ PnUQ¯À Bsiß CÖv°À 
uÒÐ£iø¯¨ ö£ÖÁvÀ ©õØÓ[PøÍa ö\´xÒÍÚº 

(A) Provision for discount on creditors  
 Phß ÁÇ[S£ÁºPÐUS uÒÐ£i ÁÇ[SuÀ 

(B) Provision for discount on debtors 

 PhÚõÎPÐUS uÒÐ£i ÁÇ[SuÀ   

(C) Provision for bad debts  
 ÷©õ\©õÚ PhßPÐUPõÚ HØ£õk 

(D) Provision for doubtful debts 
 \¢÷uPzvØS›¯ PhßPÐUPõÚ HØ£õk   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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60. This account is more concerned about their cash position, instead of
surplus or deficit 
C¢u PnUS E£› £ØÓõUSøÓUS £v»õP AÁºPÎß £n {ø» SÔzx 
AvP AUPøÓ öPõskÒÍx 

(A) Balance Sheet 
 C¸¨¦ {ø»U SÔ¨¦  

(B) Receipts and Payment Account 

 μ^xPÒ ©ØÖ® £n® ö\¾zx® PnUS   

(C) Profit and Loss Account 
 »õ£ |èh PnUS  

(D) Income and Expenditure Account 
 ÁμÄ ö\»ÄU PnUS   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. The formula for calculating Break Even Point in terms of sales value
is 
ÂØ£øÚ ©v¨¤ß Ai¨£øh°À •ÔÄ \©{ø»¨ ¦ÒÎø¯ 
PnUQkÁuØPõÚ `zvμ® 

(A) Fixed cost ×  Contribution Margin Ratio  
 {ø»¯õÚ ö\»Ä ×  £[÷PØ¦ ÂQu® 

(B) Fixed cost ÷  Contribution Margin Ratio 
 {ø»¯õÚ ö\»Ä ÷  £[÷PØ¦ ÂQu®   

(C) Fixed cost  – Contribution Margin Ratio  

 {ø»¯õÚ ö\»Ä ---– £[÷PØ¦ ÂQu®  

(D) Fixed cost +  Contribution Margin Ratio 
 {ø»¯õÚ ö\»Ä ---+  £[÷PØ¦ ÂQu®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. No profit, no loss point is also called as 
C»õ£•® |mh•® CÀ»õ¨ ¦ÒÎø¯ CÆÁõÖ® TÓ»õ®  

(A) Investment point (B) Break even point 

 ‰»uÚ ¦ÒÎ  •ÔÄa \©{ø»¨ ¦ÒÎ 

(C) Circle point (D) All of these 
 Ámh ¦ÒÎ  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. Risk Bearing Theory of profit is associated with 
B£zx HØ¦U ÷Põm£õkhß öuõhº¦øh¯Áº 

(A) Schumpeter (B) F. B. Hawley 

 _®¥mhº  F. B. íõ¼ 

(C) J. B. Clark (D) Prof. Knight 
 J. B. QÍõºU  ÷£μõ. ø|m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 36

64. Gross profit is  
ö©õzu C»õ£® Gß£x 

(A) Total Revenue ÷  Total Explicit costs 
 ö©õzu Á¸Áõ´ ÷  öÁÎ¨£øh¯õP öu›²® ö©õzu ö\»ÄPÒ 

(B) Total Revenue – Total Explicit costs 

 ö©õzu Á¸Áõ´ – öÁÎ¨£øh¯õP öu›²® ö©õzu ö\»ÄPÒ  

(C) Total Revenue ×  Total Explicit costs 
 ö©õzu Á¸Áõ´ ×  öÁÎ¨£øh¯õP öu›²® ö©õzu ö\»ÄPÒ  

(D) Total Revenue +  Total Explicit costs 
 ö©õzu Á¸Áõ´ +  öÁÎ¨£øh¯õP öu›²® ö©õzu ö\»ÄPÒ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. “A Profit is a mixed and a vexed income” was given by 
C»õ£® TmhõÚ Aø»UPÈUQßÓ Á¸Áõ´ GßÖ TÔ¯Áº 

(A) Fisher (B) Taussiq  
 ¤åº  hõ]U 

(C) J.B. Say (D) Marshall  
 ÷á.¤. ÷\  ©õºåÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. A managerial economist helps the management in making decisions
relating to internal operations of a firm is  
÷©»õsø© ö£õ¸Íõuõμ {¦nº J¸ {ÖÁÚzvß EÒ ö\¯À£õkPÒ 

öuõhº£õÚ •iÄPøÍ —————— ÷©»õsø© EuÄQÓx. 

(A) Environmental forecasting (B) Business operations  
 _ØÖa`ÇÀ •ßÚÔÂ¨¦  ÁoP |hÁiUøPPÒ 

(C) Sales forecasting (D) Economic forecasting  
 ÂØ£øÚ •ßÚÔÂ¨¦  ö£õ¸Íõuõμ •ßÚÔÂ¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. The modern theory of firm holds that firms behave in a way that is
designed to maximize  
{ÖÁÚzvß |ÃÚ ÷Põm£õk {ÖÁÚzvß |hzøu AvP£m\©õP 
ÁiÁø©UP¨£mkÒÍx GßÖ TÖQÓx 

(A) Monopoly power (B) Profit  
 HP÷£õP BØÓÀ  »õ£® 

(C) The value of firm (D) Total revenue  
 {ÖÁÚzvß ©v¨¦  ö©õzu Á¸Áõ´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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68. The primary concern of Economics is  
ö£õ¸Íõuõμzvß •ußø© AUPøÓ Gß£x 

(A) Maximising profit   
 C»õ£zøu AvP›zuÀ   

(B) Allocating scarce resources  
 £ØÓõUSøÓ ÁÍ[PøÍ JxURk ö\´uÀ 

(C) Minimising cost   
 ö\»ÄPøÍ SøÓzuÀ  

(D) Increasing consumption  
 ~PºøÁ AvP›zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

69. Who is considered the father a modern economics and greatly
influenced managerial economics?  
|ÃÚ ö£õ¸Íõuõμzvß u¢øu¯õP P¸u¨£k£Áº ©ØÖ® ÷©»õsø© 
ö£õ¸Íõuõμzvß ö£›x® ö\ÀÁõUS ö\¾zx£Áº ¯õº? 

(A) Adam smith (B) Karl Marx 

 Bh® ìªz  PõμÀ ©õºUì 

(C) John Maynard Keynes (D) Milton Friedman 
 áõß ÷©Úõºm Rßì  ªÀhß L¨Ÿm÷©ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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70. Which of the following is a characteristics of monopolistic
competition in managerial economics? 
¤ßÁ¸® £s¦PÎÀ Gx ÷©»õsø© ö£õ¸ÍõuõμzvÀ HP÷£õP¨ 
÷£õmi¯õS®? 

(A) One seller dominating market   

 J¸ ÂØ£øÚ¯õÍº \¢øu°À BvUP® ö\¾zxQÓõº  

(B) Price taker behaviour   
 Âø» Áõ[S£Á›ß |hzøu 

(C) Identical products  
 J÷μ ©õv›¯õÚ ö£õ¸mPÒ   

(D) Many sellers with different products   
 £À÷ÁÖ ö£õ¸mPÐhß £» ÂØ£øÚ¯õÍºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. Compensation of the employees comes under the measurement of 
FÈ¯ºPÎß CÇ¨¥k Guß RÌ Á¸QÓx ––––––––––. 

(A) value added method (B) personal income  
 ©v¨¦ Tmh¨£mh •øÓ  uÛ¨£mh Á¸©õÚ® 

(C) income method (D) personal disposable method
 Á¸©õÚ •øÓ PnURk  uÛ¨£mh ö\»ÁÈ¨¦ •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. Gross Domestic Product (GDP) deflator is 
ö©õzu EÒ|õmk EØ£zv (GDP) SøÓ¨£õß Gß£x 

(A) 100
GDPReal

GDPNominal ×   

 100
GDPReal

GDPNominal ×    

(B) Nominal GDP – Real GDP  

 £n©v¨¦ GDP – Esø© GDP 

(C) Nominal GDP × Real GDP  
 £n©v¨¦ GDP × Esø© GDP   

(D) Nominal GDP + Real GDP   

 £n©v¨¦ GDP + Esø© GDP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

£n ©v¨¦ GDP 

Esø© GDP 
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73. Profit limiting factors are 

C»õ£zøu Pmk¨£kzx® PõμoPÒ 

1. Internal factors 
 APU PõμoPÒ 

2. External factors 
 ¦ÓU PõμoPÒ 

3. Political factors 
 Aμ]¯À PõμoPÒ 

4. Laws 
 \mh® 

(A) 1 and 2 are correct (B) 3 and 4 are correct 

 1 ©ØÖ® 2 \›  3 ©ØÖ® 4 \› 

(C) 1 and 3 are correct (D) 2 and 4 are correct 
 1 ©ØÖ® 3 \›  2 ©ØÖ® 4 \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. The selling price of a product is Rs. 20 per unit, the variable cost is
Rs. 12 per unit and the annual total fixed cost is Rs. 3,20,000.
Calculate the break even point 
J¸ ö£õ¸Îß ÂØ£øÚ Âø» Kº A»QØS ¹. 20 Auß ©õÖ® Âø» Kº 

A»QØS ¹. 12 Auß Á¸hõ¢vμ ö©õzu {ø»¯õÚ Âø» ¹. 3,20,000 
GÛÀ •ÔÄ \©{ø»¨ ¦ÒÎø¯ PnUQkP:  

(A) 4000 units (B) 40,000 units  

 4000 A»SPÒ  40,000 A»SPÒ 

(C) 400 units (D) 4,80,000 units  
 400 A»SPÒ  4,80,000 A»SPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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75. Depreciation is also called as 
÷u´©õÚ® Gß£øu C¨£i²® TÓ»õ® 

(A) GDP deflator    

 GDP SøÓ¨£õß   

(B) Net indirect tax  
 {Pμ ©øÓ•P Á› 

(C) Capital consumption allowance  
 ‰»uÚ ~PºÄ PÈÄ   

(D) All of these   
 CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. Arrange the following in order : 
¤ßÁ¸ÁÚÁØøÓ Á›ø\£kzxP. 

1. Creeping inflation 
 Fº¢x ö\À¾® £nÃUP® 

2. Hyper inflation 
 AvP (or) E¯º £nÃUP® 

3. Running inflation 
 C¯[S® £nÃUP® 

4. Trotting inflation 
 |øh¨ £nÃUP® AÀ»x uÒÐ £nÃUP® 

(A) 1, 3, 4, 2 (B) 1, 2, 3, 4 

(C) 1, 4, 3, 2 (D) 2, 3, 4, 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. Assertion [A]  :  The expert’s opinions method is a very simple
and quick. 

Á¼²ÖzuÀ [A]  :   {¦nºPÎß P¸zx •øÓ GÎø©¯õÚx ©ØÖ®
ÂøμÁõÚx.   

Reason [R]   :  It involves no danger of a group think 
mentality 

Põμn® [R]  :  J¸ SÊ ©ÚuÍÂÀ ]¢vUS® B£zx CvÀ
CÀø» 

(A) Both [A] and [R] are true [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚøÁ [A]US, [R] uõß \›¯õÚ 
ÂÍUP®  

(B) [A] is true but [R] is false  

 [A] \›¯õÚøÁ BÚõÀ, [R] uÁÓõÚøÁ 

(C) [A] is false, [R] is true  

 [A] uÁÓõÚøÁ, [R] \›¯õÚøÁ 

(D) Both [A] and [R] are true but [R] is not correct explanation of 
[A] 

 [A] ©ØÖ® [R] \›¯õÚøÁ BÚõÀ [R]ß ÂÍUP® [A]US ö£õ¸¢uõx

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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78. Which type of the Business forecastings are qualitative and 
quantitative analyses? 
G¢u ÁøP¯õÚ ÁoP •ßÚÔÂ¨¦ uμ©õÚ ©ØÖ® AÍÄ B´ÄPøÍ
öPõskÒÍx 

1. Micro economics demand forecasting 
 ÷uøÁ •ßÚÔÂ¨¦ ~sq°À ö£õ¸Íõuõμ® 

2. Macro economics demand forecasting 
 ÷uøÁ •ßÚÔÂ¨¦ ÷£›¯À ö£õ¸Íõuõμ® 

3. Industrial level forecasting 
 öuõÈÀ xøÓ AÍÄÒÍ •ßÚÔÂ¨¦ 

4. Long term forecasting 
 AvP Põ» AÍÄ •ßÚÔÂ¨¦ 

(A) 1 only (B) 1 and 2 only 

 1 ©mk®  1 ©ØÖ® 2 ©mk® 

(C) 2 and 3 only (D) 3 and 4 only 
 2 ©ØÖ® 3 ©mk®  3 ©ØÖ® 4 ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. Arrange the following events in chronological order : 
Põ» Á›ø\£i ¤ßÁ¸® {PÌÄPøÍ Á›ø\¨£kzuÄ®: 

1. Trough 
 uõÌÁõÚ v¸¨¦•øÚ 

2. Peak 
 Ea\® 

3. Contraction 
 _¸UP® 

4. Expansion 
 Â›ÁõUP® 

(A) 2, 3, 1, 4 (B) 1, 2, 4, 3 

(C) 3, 1, 4, 2 (D) 4, 2, 3, 1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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80. Choose the correct answer. 

\›¯õÚ Âøhø¯ ÷uº¢öukUPÄ®. 

1. Bent Hansen  –  Excess Demand model 
 ö£ßm íß\ß  AvP £i¯õÚ ÷uøÁ ©õv› 

2. Friedman’s view – Temporary phenomenon  
 ¤›mö©s P¸zx  uØPõ¼P |hÁiUøP 

3. Keynes – Demand pull inflation 
 Qßì  ÷uøÁ SÊ £nÃUP® 

4. Ackely – Cost push inflation 
 BU½  ö\»Ä uÒÐ £nÃUP® 

(A) 1 and 3 are correct (B) 1 and 2 are correct 

 1 ©ØÖ® 3 \›¯õÚøÁ  1 ©ØÖ® 2 \›¯õÚøÁ 

(C) 2 and 3 are correct (D) 3 and 4 are correct 
 2 ©ØÖ® 3 \›¯õÚøÁ  3 ©ØÖ® 4 \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. A ‘Service product’ consists of  

J¸ ‘÷\øÁ u¯õ›¨¦’ Gß£x 

(A) Facilitating goods and explicit service 
 \μUSPÒ ©ØÖ® öÁÎ¨£øh¯õÚ ÷\øÁPøÍ GÎuõUSuÀ 

(B) Facilitating goods and implicit service  
 \μUSPÒ ©ØÖ® ©øÓ•P ÷\øÁø¯ GÎuõUSuÀ 

(C) Facilitating goods and explicit and implicit service 
 \μUSPÒ ©ØÖ® öÁÎ¨£øh¯õÚ ©ØÖ® ©øÓ•P ÷\øÁPøÍ 

GÎuõUSuÀ 

(D) None of the above  
 ÷©ØTÔ¯ÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. The overall objective of the operations subsystem is to provide  
ö\¯À£õmkz xøn Aø©¨¤ß Jmkö©õzu ÷|õUP®  

(A) Best working environment to all the employees 
 AøÚzx FÈ¯ºPÐUS® ]Ó¢u £oa`Çø» ÁÇ[SÁuõS® 

(B) A cleaner workspace  
 y´ø©¯õÚ £o°h[PÒ 

(C) Conversion capabilities for meeting the organisation’s goals 
and strategy  

 {ÖÁÚzvß C»USPÒ ©ØÖ® ‰÷»õ£õ¯zøu §ºzv ö\´uÁØPõÚ 
©õØÖ® vÓßPÒ 

(D) Raw materials for a cheaper price 
 ©¼ÁõÚ Âø»°À ‰»¨ö£õ¸mPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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83. The subgoals of the operations subsystem are   
ö\¯À£õmk xøn Aø©¨¤ß xøn C»USPÒ : 

(i) Product/Service characteristics   
 u¯õ›¨¦/÷\øÁ £s¦PÒ  
(ii) Efficiency and cost control 
 vÓß ©ØÖ® ö\»Ä Pmk¨£õk 
(iii) Customer service 
 ÁõiUøP¯õÍº ÷\øÁ 
(iv) Administration  
 {ºÁõP® 

(A) (iv) only (B) (i) and (iv) only 

(C) (i), (ii) and (iii) only (D) (ii) and (iv) only  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. Most suitable layout for Job production is  
÷Áø» EØ£zvUS ªPÄ® ö£õ¸zu©õÚ uÍÁø©¨¦  

(A) Line Layout (B) Matrix Layout 

 Á› uÍÁø©¨¦  ÷©m›Uì uÍÁø©¨¦ 

(C) Process Layout (D) Product Layout 
 ö\¯À•øÓ uÍÁø©¨¦  u¯õ›¨¦ uÍÁø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Variability arises in POM (Production and Operations Management) 
system due to 
EØ£zv ©ØÖ® ö\¯À£õmk ÷©»õsø© Aø©¨¤À ©õÖ£õk HØ£kÁvß 
Põμn® 

(A) Varying work efficiencies of workers   
 öuõÈ»õÍºPÎß ©õÖ£mh ÷Áø» vÓßPÒ 

(B) Variations in the functioning of the equipment   
 E£Pμn[PÎß ö\¯À£õmiÀ EÒÍ ©õÖ£õkPÒ 

(C) Variations in the market  
 \¢øu°À EÒÍ ©õÖ£õkPÒ 

(D) All of the above 
 ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. 3PL stands for 

3PL Gß£x 

(A) Three Points Logistics  
 ‰ßÖ ¦ÒÎPÒ uÍÁõh[PÒ 

(B) Third Party Logistics   
 ‰ßÓõ® uμ¨¦ uÍÁõh[PÒ 

(C) Three Points Location  
 ‰ßÖ ¦ÒÎPÒ Ch®  

(D) None of the above  
 ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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87. Work study is concerned with  
÷Áø» B´Ä Gß£x 

(A) Improving present method and finding standard time  
 uØ÷£õøu¯ •øÓø¯ ÷©®£kzxuÀ ©ØÖ® {ø»¯õÚ ÷|μzøuU 

PshÔuÀ 

(B) Motivation of workers  
 öuõÈ»õÍºPÎß E¢xuÀ 

(C) Improving production capability  
 EØ£zv vÓøÚ ÷©®£kzxuÀ  

(D) All of the above  
 ÷©ØTÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

88. Make or Buy decisions also referred to as  
Áõ[SuÀ AÀ»x öPõÒ•uÀ •iÄPÒ _________ GßÖ® SÔ¨¤h¨£kQÓx.

(A) Outsourcing decisions  
 AÄm÷\õº][ •iÄPÒ 

(B) Economic decisions   
 ö£õ¸Íõuõμ •iÄPÒ 

(C) Tactical decisions  
 u¢vμ •iÄPÒ 

(D) Pricing decisions   
 Âø» {ºn¯ •iÄPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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89. The process of grouping the tasks/elements is known as  
£oPÒ/EÖ¨¦PøÍ SÊÁõUS® ö\¯À•øÓ  

(A) Routing  
 ÁÈzuh[PÒ (¹mi[) 

(B) Line balancing   
 Á› \©{ø»¨£kzuÀ (ø»ß ÷£»ß][) 

(C) Method study  
 •øÓ B´Ä 

(D) Scheduling  
 vmhªhÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

90. Services cannot be stored. This describes the _________ characteristic 
of services. 
÷\øÁPøÍ ÷\ªUP •i¯õx. Cx ÷\øÁPÎß _________ £s¦PøÍ 
ÂÁ›UQÓx. 

(A) Intangibility  
 A¸Á©õÚ ußø© 

(B) Perishability   
 AÈ²® ußø© 

(C) Inseparability  
 ¤›UP •i¯õu ußø© 

(D) Variability  
 ©õÖ£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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91. The following statements are true about the type of observations are 
considered in the working sampling technique? 
¤ßÁ¸® TØÖPÎÀ Gx Esø© GÚ PshÔ¯Ä®. ÷Áø» ©õv› ~m£zvÀ 
G¢u ÁøP¯õÚ PÁÛ¨¦PÒ ÷©ØöPõÒÍ¨£kQßÓÚ. 

(A) Continuous observations  
 öuõhºa]¯õÚ PÁÛ¨¦PÒ 

(B) Random observations   
 ^μØÓ PÁÛ¨¦PÒ 

(C) Random observations and continuous observations  
 ^μØÓ PÁÛ¨¦PÒ ©ØÖ® öuõhºa]¯õÚ PÁÛ¨¦PÒ 

(D) Random (or) continuous observations  
 ^μØÓ PÁÛ¨¦PÒ (AÀ»x) öuõhºa]¯õÚ PÁÛ¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. Work Measurement techniques include all of the following except  
÷Áø» AÍÃmk ~m£® Gß£x ¤ßÁ¸ÁÚÁØøÓ EÒÍhUQ¯x. BÚõÀ 
JßøÓz uÂμ 

(A) Time study  
 ÷|μ B´Ä 

(B) Work sampling   
 ©õv› ÷Áø»  

(C) Elemental data 
 Ai¨£øh uμÄ 

(D) On the job training  
 ÷Áø» £°Ø]°À  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. The symbol ∇  is used in Production Department for indicating  
∇  GßÓ SÔ±k EØ£zv xøÓ°À GuØPõP £¯ß£kzu¨£kQÓx? 

(A) Recording (B) Holding  
 £vÂØPõP   {Özv øÁzuÀ 

(C) Inspecting  (D) Travelling  
 B´Ä ÷©ØöPõÒÍ  ÷£õUSÁμzvØPõP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. Match the following with the work study technique 
¤ßÁ¸® ÷Áø» B´Ä ~m£zxhß – ö£õ¸zuÄ® 
(a) Motion study 1. Find out one best way of doing the job 
 C¯UP B´Ä  ÷Áø» ö\´ÁuØPõÚ J¸ ]Ó¢u ÁÈø¯U 
    PshÔuÀ 
(b) Method study 2. Eliminate unnecessary movements  
 •øÓ B´Ä  ÷uøÁ¯ØÓ C¯UP[PøÍ APØÖuÀ  
(c) Time study 3. Determine the frequency of rest
    intervals of workers 
 ÷|μ B´Ä  öuõÈ»õÍºPÎß K´Ä CøhöÁÎPÎß
    AvºöÁsønz wº©õÛzuÀ 
(d) Fatigue study 4. Determine the standard time taken to
    perform a job  
 ÷\õºÄ B´Ä  J¸ ÷Áø»ø¯a ö\´¯ GkUS® {ø»¯õÚ 
    ÷|μzøuz wº©õÛzuÀ 

 (a) (b) (c) (d) 
(A) 2 1 3 4    
(B) 1 2 3 4     
(C) 2 3 1 4    
(D) 2 1 4 3 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. MTM is a work measurement technique by  
•øÓPÒ ÷|μ AÍÃk Gß£x J¸ ÷Áø» AÍÃmk ~m£©õS® 

(A) Stopwatch study  
 {Özu PsPõo¨¦ •øÓ 

(B) Pre determined motion time systems  
 •ßÚ÷μ wº©õÛUP¨£mh C¯UP ÷|μ Aø©¨¦PÒ 

(C) Past data comparison  
 Ph¢u Põ» uμÄ J¨¥k 

(D) Work sampling study  
 ÷Áø» ©õv› B´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. The kind of strategic focus put in a company’s processes in TQM? 
G¢u ÁøP¯õÚ u¢vμ PÁÚ® J¸ {ÖÁÚzvß ö©õzu uμ ÷©»õsø©°À 
ö\¾zu¨£kQÓx? 

(A) Continual Improvement  
 öuõhº •ß÷ÚØÓ® 

(B) Passive Improvement  
 ö\¯»ØÓ •ß÷ÚØÓ® 

(C) Unsteady Improvement 
 {ø»¯ØÓ •ß÷ÚØÓ® 

(D) Steady Improvement 
 {ø»¯õÚ •ß÷ÚØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. Choose the wrong answer from the following statements 
¤ßÁ¸®  AÔUøPPÎ¼¸¢x uÁÓõÚ £vø»z ÷uº¢öukUPÄ®. 

(A) Quality management principle on the basis of which 
ISO 9000:2015 and ISO 9001:2015 are based on leadership. 

 ISO 9000:2015 ©ØÖ® ISO 9001:2015 BQ¯øÁ uø»ø©zxÁzøu 
Ai¨£øh¯õPU öPõsh uμ ÷©»õsø©U öPõÒøP.   

(B) Quality management principle on the basis of which 
ISO 9000:2015 and ISO 9001:2015 are based on customer 
focus. 

 ISO 9000:2015 ©ØÖ® ISO 9001:2015 BQ¯øÁ 
ÁõiUøP¯õÍºPÎß PÁÚzøu Ai¨£øh¯õPU öPõsh uμ 
÷©»õsø©U öPõÒøP. 

(C) Quality management principle on the basis of which 
ISO 9000:2015 and ISO 9001:2015 are based on evidence based 
decision making. 

 ISO 9000:2015 ©ØÖ® ISO 9001:2015 BQ¯ÁØÔß Ai¨£øh°À 
uμ ÷©»õsø©U öPõÒøP Buõμ Ai¨£øh°»õÚ •iöÁk¨£øu 
Ai¨£øh¯õPU öPõshx. 

(D) Quality management principle on the basis of which 
ISO 9000:2015 and ISO 9001:2015 are based on customer 
dissatisfaction. 

 ISO 9000:2015 ©ØÖ® ISO 9001:2015 BQ¯øÁ ÁõiUøP¯õÍº 
Av¸¨vø¯ Ai¨£øh¯õPU öPõsh uμ ÷©»õsø©U öPõÒøP. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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98. Kaizen concerns about 
öP´ö\ß AUPøÓPÒ 

(A) Break throughs  
 •ß÷ÚØÓ[PÒ 

(B) Continuous improvement 

 öuõhºa]¯õÚ •ß÷ÚØÓ®   

(C) Fixed cost of quality  
 uμzvß {ø»¯õÚ ö\»Ä 

(D) Variable cost attributable to human resource 
 ©Ûu ÁÍzvØS HØ£k® ©õÔ ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. ––––––––––– data are continuous in nature and are measurable on
a sliding scale. 
––––––––––– uμÄ öuõhºa]¯õÚ ußø© öPõshx ©ØÖ® J¸ ìø»i[ 
AÍÂÀ AÍÂhUTi¯x. 

(A) Fixed (B) Variable 

 {ø»¯õÚ  ©õÖ£k® 

(C) Attribute (D) Discrete 
 £s¦  uÛzußø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. ISO 14000 standards are for the 
IGìK 14000 uμ{ø»PÒ 

(A) Quality Management System  
 uμ ÷©»õsø© Aø©¨¦ •øÓ 

(B) Administration 

 {ºÁõP® 

(C) Supply Chain  
 Â{÷¯õPa \[Q¼ 

(D) Environmental Management System 
 _ØÖa`ÇÀ ÷©»õsø© Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. Havethrone studies is related to which stage of the organisational
behaviour evolution. 
{ÖÁÚ |hzøu £›nõ© ÁÍºa]°ß G¢u Pmhzxhß  íõÆ÷uõºß 
B´ÄPÒ öuõhº¦øh¯x 

(A) Industrial revolution (B) Scientific management 

 öuõÈÀxøÓ ¦μm]  AÔÂ¯À ÷©»õsø© 

(C) Organisational behaviour (D) Human relation movement 
 {ÖÁÚ |hzøu  ©Ûu EÓÄPÒ C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. MESO organisational behaviour is related with 
MESO  {ÖÁÚ |hzøu GuÝhß öuõhº¦øh¯x? 

(A) Individual behaviour (B) Group behaviour 

 uÛ©Ûu |hzøu  SÊ |hzøu 

(C) Organisational behaviour (D) None of these 
 {ÖÁÚ |hzøu  CøÁ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. In percent context challenges for organisational behaviour are 
uØ÷£õxÒÍ {ø»°À {ºÁõP |hzøuUPõÚ \ÁõÀPÒ  

(A) Employee expectation (B) Work free diversity 

 öuõÈ»õÍº Gvº£õº¨¦  £o¯õÍº EøÇ¨¦ \Uv £μÁÀ

(C) Globalization (D) All of the above 
 E»P©¯©õUPÀ  ÷©¾ÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. Unemployment can be described as 
÷Áø»°ßø©ø¯ CÆÁõÖ ÂÁ›UP»õ® 

(A) The number of people who voluntarily choose not to work. 
 ÷Áø» ö\´¯ ÷Áshõ® GßÖ uõÚõP •ßÁ¢x ÷uº¢öukUS® 

|£ºPÎß GsoUøP. 

(B) The number of people who are tables and are actively seeking 
work. 

 ÷Áø»°ßø© ©ØÖ® B÷»õ\øÚ²hß ÷Áø» ÷uk® ©UPÎß 
GsoUøP. 

(C) The number of people who are not actually seeking work. 
 Esø©°À ÷Áø» ÷uhõuÁºPÎß GsoUøP. 

(D) The number of people who are not actively seeking work who 
field work. 

 Esø©°À ÷Áø» ÷uhõu ©UPÒ ©ØÖ® ÷Áø»÷¯ ÷uh 
öu›¯õuÁºPÒ. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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105. The field organisational behaviour is primarily concerned with 
{ÖÁÚ |hzøu xøÓ¯õÚx •ußø©¯õP GuÝhß öuõhº¦øh¯x 

(A) The behaviour of individual and groups. 
 uÛ|£ºPÎß ©ØÖ® SÊUPÎß |hzøu 

(B) How resources are effectively managed. 
 ÁÍ[PÒ GÆÁõÖ {ºÁQUP¨£kQßÓÚ 

(C) Control process and interactions between organisations 
external context. 

 Pmk¨£õmk ö\¯À•øÓPÒ ©ØÖ® {ÖÁÚ[PÐUQøh°»õÚ 
öuõhº¦PÒ öÁÎ¨¦Ó `ÇÀ 

(D) Both (A) and (C) 
 (A) ©ØÖ® (C) Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. ––––––––––– is the extent to which an employee’s voluntary
behaviour contributes to organisational success. 
––––––––––– Gß£x J¸ FÈ¯ºPÎß ußÚõºÁ |hzøu {ÖÁÚ 
öÁØÔUS £[PÎUS® •UQ¯ A[P©õS®. 

(A) Organisational culture  
 {ÖÁÚ P»õa\õμ® 

(B) Organisational conflict 

 {ÖÁÚ ÷©õuÀ 

(C) Organisational citizenship behaviour  
 {ÖÁÚ Si²›ø© |hzøu 

(D) Organisational change 
 {ÖÁÚ ©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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107. List the factors in planned change 
vmhªh¨£mh ©õØÓzvß PõμoPøÍ £mi¯¼kP. 

1. Technology 
 öuõÈÀ ~m£® 

2. Structure 
 Pmhø©¨¦ 

3. Task 
 £o 

4. People 
 ©UPÒ 

(A) 1, 2, 3 (B) 1, 3, 4 

(C) 1, 2, 3, 4 (D) 1, 2, 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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108. Select the correct order of the stages of team development. 
SÊ ÁÍºa] {ø»PÎß \›¯õÚ Âøhø¯z ÷uº¢öukUPÄ®. 

1. Norming, Storming, Forming, Performing, Adjourning 
 ö|Ô©¯©õUPÀ, •ØÖøP, E¸ÁõuÀ, ö\´øP, JzvøÁzuÀ 

2. Storming, Performing, Norming, Forming, Adjourning 
 •ØÖøP, ö\´øP, ö|Ô©¯©õUPÀ, E¸ÁõuÀ, JzvøÁzuÀ 

3. Forming, Storming, Norming, Performing, Adjourning 
 E¸ÁõuÀ, •ØÖøP, ö|Ô©¯©õUPÀ, ö\´øP, JzvøÁzuÀ 

4. Performing, Adjourning, Forming, Storming, Norming 
 ö\´øP, JzvøÁzuÀ, E¸ÁõuÀ, •ØÖøP, ö|Ô©¯©õUPÀ  

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

109. Which one of the following factors is not associated with intergroup 
conflict? 
¤ßÁ¸® PõμoPÎÀ JßÖ SÊUPÐUQøh÷¯¯õÚ ÷©õu¾hß 

öuõhº¦øh¯x AÀ»? 

(A) Incompatible Goals (B) Resource Sharing 

 CnUP©ØÓ C»USPÒ  ÁÍ¨ £QºÄ 

(C) Absorption of Uncertainity (D) Vertical Relationship 
 {a\¯©ØÓ ußø©ø¯ EÔg_uÀ  ö\[Szx EÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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110. Which one of the following is not a description of organizational
culture? 
¤ßÁ¸ÁÚÁØÖÒ Gx {ÖÁÚ P»õa\õμzøu ÂÁ›¨£vÀø»? 

(A) Outcome orientation (B) People orientation 

 ÂøÍÄ BØÖ¨£kzxuÀ  ©UPÒ BØÖ¨£kzxuÀ 

(C) Team orientation (D) Environment orientation 
 SÊ BØÖ¨£kzxuÀ  _ØÖa`ÇÀ BØÖ¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

111. Nowadays a lot of stress being put on the ––––––––––– of the 
employee in the organisation 
C¨÷£õöuÀ»õ®, {ÖÁÚzvÀ £o¦›²® FÈ¯ºPÒ ––––––––––– «x 
AvP AÊzu® öPõkUP¨£kQÓx. 

(A) Character (B) Improvement 

 ußø©  •ß÷ÚØÓ® 

(C) Behaviour (D) Rewards 
 |hzøu  öÁS©vPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. Responsibility advancement etc are an example of  
ö£õÖ¨¦ •ß÷ÚØÓ® ÷£õßÓøÁ Guß Euõμn®? 

(A) Motivators (B) Hygiene factors 

 E¢xuÀ  _Põuõμ PõμoPÒ 

(C) Improvement factors (D) Advance factors 
 •ß÷ÚØÓ PõμoPÒ  •ß÷ÚØÓ PõμoPÒ £õºøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. From the below which is not a outcome from person having a good
personality?  
R÷Ç EÒÍÁØÔÀ C¸¢u J¸ |À» BÐø© öPõsh |£›ß ÂøÍÄ AÀ»?

(A) good performer (B) good team player 

 |À» ö\¯ÀvÓß  |À» Ao Ãμº 

(C) lead a team well (D) make profit 
 J¸ Aoø¯ ÁÈ |hzxuÀ  »õ£® £õºUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. Who was the first person to focus on and assist the needs of human
employees? 
•u»õÁuõP ©ÛuºPÎß ÷uøÁPøÍ PÁÚzvÀ öPõsk £o¯õÍºPÐUS 
EuÂ ö\´uÁº ¯õº? 

(A) J.N. TATA 

 J.N. hõhõ 

(B) ROBERT OWEN 

 μõ£ºm KÁß 

(C) ANDREW URE 
 Bß¸ E› 

(D) None of the above 
 ÷©ØTÔ¯ÁØÔÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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115. Which of the following theories provides on idea about what
employees need, and what are the crucial factors the manager can
used the motivation the employees? 
¤ßÁ¸® ÷Põm£õkPÎÀ Gx FÈ¯ºPÐUS GßÚ ÷uøÁ Gß£x £ØÔ¯ 
J¸ ÷¯õ\øÚø¯ ÁÇ[SQÓx ©ØÖ® ÷©»õÍº FÈ¯ºPøÍ FUSÂUP 
£¯ß£kzuUTi¯ •UQ¯©õÚ PõμoPÒ ¯õøÁ? 

(A) Content theory (B) Process theory 

 EÒÍhUP ÷Põm£õk  ö\¯À•øÓU ÷Põm£õk 

(C) Maslous theory (D) Herzberg’s theory 
 ©õì÷»õÂß ÷Põm£õk  öíºö£ºU ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. ———— Refers to the interaction of forces between group members
in a social situation. 
———— \‰P `Ì{ø»°À SÊ EÖ¨¤ÚºPÐUS Cøh°»õÚ \UvPÎß 
öuõhº¦PøÍ SÔUQÓx. 

(A) Social group (B) Group Dynamics 

 \‰PU SÊ  SÊ C¯UPÂ¯À 

(C) Task groups (D) Group Development 
 £oU SÊUPÒ  SÊ A¤Â¸zv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. In five-stage model of group development which one of the following
stage is not relevant? 
SÊ ÁÍºa]°ß I¢x {ø» ©õv›°À, ¤ßÁ¸® {ø»PÎÀ Gx 
ö£õ¸zu©ØÓx? 

(A) Initiating (B) Storming 

 xÁUSuÀ  •ØÖøP°h¨£mhÚ 

(C) Performing (D) Adjourning 
 ö\´øP  JzvøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Dysergy in group working emerges in the following situations: 
SÊ¨£o°À ö\¯¼Ç¨¦ ¤ßÁ¸® `Ì{ø»PÎÀ öÁÎ¨£kQÓx: 
(1) Lack of complementary skills of group members 
 SÊ EÖ¨¤Ú›ß {μ¨¦ vÓßPÎß £ØÓõUSøÓ  
(2) Lack of clarity about group goals 
 SÊ C»USPÒ £ØÔ¯ öuÎÂßø© 
(3) Lack of mutual trust and respect 
 £μì£μ |®¤UøP ©ØÖ® ©›¯õøu CÀ»õø© 
(4) Conflict among group members. 
 SÊ EÖ¨¤ÚºPÎøh÷¯ ÷©õuÀ 

(A) only (1) and (2) (B) only (2) and (4) 

 (1) ©ØÖ® (2) ©mk®  (2) ©ØÖ® (4) ©mk® 

(C) only (2) and (3) (D) (1), (2), (3), (4)  
 (2) ©ØÖ® (3) ©mk®  (1), (2), (3), (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. The group leaders devise certain actions for the adherence of group
norms: select whichever is applicable: 
SÊz uø»ÁºPÒ SÊ Âv•øÓPøÍ Pøh¨¤i¨£uØPõÚ ]» 
|hÁiUøPPøÍ ÁSUQÓõºPÒ & AøÁø¯ ÷uºÄ ö\´¯Ä®. 
(1) Education 
 PÀÂ 
(2) Surveillance 
 PsPõo¨¦ 
(3) Warning 
 Ga\›UøP 
(4) Sanctions 
 uk¨¦ |hÁiUøPPÒ 

(A) (1), (2), (3) (B) (1), (3), (4) 

(C) (2), (3), (4) (D) (1), (2), (3), (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

120. Select which is not related to group formation theories 
SÊ E¸ÁõUPU ÷Põm£õkPÐhß öuõhº¤À»õuÁØøÓz ÷uº¢öukUPÄ®. 

(A) Balance Theory (B) Exchange Theory 

 \©Ûø»U ÷Põm£õk  £›©õØÓU ÷Põm£õk 

(C) Socialise Theory (D) Propinquity Theory 
 \‰P©¯©õUPÀ ÷Põm£õk  A¸Põø© ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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121. SMM stands for 
©õºUöPmi[ APμõv°À , SMM Gß£x 

(A) Social Marketing Management  
 \‰P \¢øu¨£kzuÀ ÷©»õsø© 

(B) Social Management Marketing 

 \‰P ÷©»õsø© \¢øu¨£kzuÀ   

(C) Social Media Marketing  
 \‰P FhP \¢øu¨£kzuÀ 

(D) Social Media Manipulation 
 \‰P FhP øP¯õÐuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. Which of the following is not a risk in internet based transactions? 
¤ßÁ¸ÁÚÁØÔÀ G¢u Cøn¯ Ai¨£øh°»õÚ £›ÁºzuøÚPÎÀ 
B£zx CÀø»? 

(A) Earns dropping (B) Spoofing 

 Á¸©õÚ® SøÓQÓx  H©õØÖ¨ £μ¨¦øP 

(C) Encryption (D) Unauthorised Action 
 ©øÓ¯õUP®  A[RP›UP¨£hõu |hÁiUøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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123. Which is not one of the key performance indicators (KPI’s) that
reflect effectiveness of your events?  
Gx E[PÒ {PÌÄPÎß ö\¯ÀvÓøÚ¨ (KPI) ¤μv£¼US® •UQ¯ 
ö\¯ÀvÓß SÔPõmiPÎÀ JßÓÀ»? 

(A) Registrations  
 £vÄPÒ 

(B) Social Media Engagement 

 \‰P FhP Dk£õk   

(C) Lead Acquisition and customer conversion  
 •ßÚo øP¨£kzuÀ ©ØÖ® ÁõiUøP¯õÍº ©õØÖuÀ 

(D) Decreased brand awareness 
 SøÓ¢u Aøh¯õÍ ÂÈ¨¦nºÄ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. The president of national consumer disputes redressal commission

is appointed by  

÷u]¯ ~Pº÷Áõº uPμõÖ wºUS® BønUSÊÂß uø»Áº ——————

BÀ {¯ªUP¨£kQÓõº. 

(A) Commissioner of Consumer Rights 

 ~Pº÷Áõº E›ø©PÒ Bøn¯º  

(B) Commissioner of Human Rights 

 ©Ûu E›ø©PÒ Bøn¯º  

(C) Central Government 

 ©zv¯ Aμ_ 

(D) State Government 

 ©õ{» Aμ_  

(E) Answer not known 

  Âøh öu›¯ÂÀø» 
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125. Tele marketing is a part of 
öuõø»öuõhº¦ \¢øu¨£kzuÀ Cuß J¸ £Sv¯õP EÒÍx. 

(A) Direct marketing (B) Social marketing 

 ÷|μia \¢øu¨£kzuÀ  \‰Pa \¢øu¨£kzuÀ 

(C) Viral marketing (D) None of the above 
 ÂÍõ]¨£μÄ® \¢øu¨£kzuÀ  ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. What is MRP? 
G®.Bº.¤ (MRP) GßÓõÀ GßÚ? 

(A) Manufacturer Retail Price (B) Moderate Retail Price 

 EØ£zv¯õÍº ]À»øÓ Âø»  ªu©õÚ ]À»øÓ Âø» 

(C) Maximum Retail Price (D) Minimum Retail Price 
 AvP£m\ ]À»øÓ Âø»  SøÓ¢u£m\ ]À»øÓ Âø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. Which one of the following products is not covered by Agricultural
Act 1937? 
¤ßÁ¸® u¯õ›¨¦PÎÀ Gx ÂÁ\õ¯a \mh® 1937&ß RÌ ÁμÂÀø»? 

(A) Tobacco (B) Spices 

 ¦øP°ø»  Áõ\øÚ¨ £sh® 

(C) Food grain (D) Meat 
 EnÄ uõÛ¯[PÒ  CøÓa] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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128. The member of consumer disputes district forum can serve upto the
age of ———— years.  
©õÁmh ~Pº÷Áõº uPμõÖ wºÄ ©ßÓzvß EÖ¨¤Úº ———— Á¯x Áøμ 
£o¯õØÓ»õ®  

(A) 60 (B) 65 

(C) 62 (D) 70 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. In which year weights and measures act have been enacted? 
G¢u Bsk Gøh ©ØÖ® AÍÃkPÒ \mh® C¯ØÓ¨£mhx? 

(A) 1980 (B) 1976 

(C) 1988 (D) 1982 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. The state consumers disputes redressal commission consist of
–––––––––– members  
©õ{» ~Pº÷Áõº SøÓ wºUS® Bøn¯® –––––––––– EÖ¨¤ÚºPøÍU 
öPõshx 

(A) 6 (B) 3 

(C) 5 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. Which set represents the 4C’s of marketing mix? 
\¢øu¨£kzxu¼ß P»øÁ°ß 4C UPøÍ G¢u öuõS¨¦ SÔUQÓx? 

(A) Customer solution, Cost, Convenience, Communication 
 ÁõiUøP¯õÍº wºÄ, ö\»Ä, Á\v, öuõhº¦ 

(B) Customer, Cost, Convenience, Comfort,   
 ÁõiUøP¯õÍº, ö\»Ä, Á\v, _P® 

(C) Convenience, Communication, Covarage, Cost 
 Á\v, uPÁÀöuõhº¦, £õxPõ¨¦, ö\»Ä 

(D) Cost, Covarage, Communication, Consultancy 
 ö\»Ä, £õxPõ¨¦, uPÁÀöuõhº¦, B÷»õ\øÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. Which of the following is a key to build lasting relationship with
consumer? 
¤ßÁ¸ÁÚÁØÔÀ Gx ÁõiUøP¯õÍ›h® }sh EÓøÁ ÷©®£kzx®? 

(A) Price of the product 
 ö£õ¸Îß Âø» 

(B) Need recognition  
 A[QP›¨¦ 

(C) Customer satisfaction 
 ÁõiUøP¯õÍº v¸¨v 

(D) Quality of the product 
 ö£õ¸Îß uμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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133. Choose one brand equity model in following models given 
öPõkUP¨£mh ©õv›PÎÀ Á\vPÎß ÁºzuP SÔ±k \©{ø»ø¯ ÷uºÄ 
ö\´¯Ä® 

(A) Customer loyalty (B) Brand power 

 ÁõiUøP¯õÍº |®£Pzußø©  ÁoPUSÔ°ß \Uv 

(C) Brand reach (D) Brand image 
 ÁoPUSÔ°ß Áμ®¦  ÁoPUSÔ°ß }m] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. The typical method of retail operation used by super marketers and
catalog showrooms is called   
]Ó¨¦ A[Põi ©ØÖ® ÷Pm»õU ÷åõ¸® £¯ß£kzx® ÂØ£øÚ 
ö\¯À£õmiß ÁÇUP©õÚ •øÓ GßÚ? 

(A) Self service retailing 
 _¯ ÷\øÁ ]À»øÓ ÂØ£øÚ 

(B) Limited service retailing  
 Áøμ¯ÖUP¨£mh ÷\øÁ ]À»øÓ ÂØ£øÚ 

(C) Full service retailing 
 •Ê ÷\øÁ ]À»øÓ ÂØ£øÚ 

(D) Service merchandiser 
 ÷\øÁ Â¯õ£õ› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. In India choose the brand that came from foreign with all the
features and it won’t get any responds from the consumers? 
J¸ öÁÎ|õmk ÁºzuPSÔ±k {ÖÁÚ® C¢v¯õÂÀ uÚx ö£õ¸øÍ 
öÁÎ°k® ÷£õx Auß «x ÁõiUøP¯õÍ¸US uS¢u Áμ÷ÁØ¦ CÀø» 
A¢u ö£õ¸Ò GßÚ? 

(A) Suzuki Alto (B) Volksswagan’s Beetle 

 __Q BÀ÷hõ  L÷ÁõìÁõPß ¥miÀ 

(C) BMW 320 D (D) Suzuki’s kizashi 
 BMW 320 D  __Q Q\õæ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. The history of marketing when did the production process end 
\¢øu°¯À Áμ»õØÔÀ EØ£zv G¨÷£õx G¢u Põ»PmhzvÀ {Özu¨£mhx 

(A) In the late 1900 s 
 1900 PÎÀ 

(B) In the early 1900 s  
 1900 •ß¦ 

(C) In the 1920 s 
 1920 PÎÀ 

(D) After the end of second world war 
 Cμshõ® E»P¨÷£õ›ß ¤ÓS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. Which of the following is not an exchange function of marketing? 
RÌPshÁØÖÒ Gx \¢øu°¯À ©õØÖ ÁÈ•øÓ CÀø»? 

(A) Product planning and development 
 ö£õ¸Ò ÁÈ•øÓ •ß÷ÚØÓ® 

(B) Buying function  
 Áõ[S® {PÌÄ 

(C) After sales and service 
 ÂØ£øÚUS ¤ÓS EÒÍ ÷\øÁ 

(D) Selling function 
 ÂØ£øÚ {PÌÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. The marketing mix suggested by 
\¢øuU P»øÁ ¯õμõÀ £›¢xøμUP¨£mhx? 

(A) Philip kotler (B) Neil boarder 

 ¤¼¨ ÷Põm»º  ö|´À ÷£õºhº 

(C) Peter ducker (D) Neil Armstrong 
 ¥mhº hUPº  }À B®ìmμõ[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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139. The plan that includes objectives policy procedure and rules are
called? 
SÔU÷PõÒ öPõÒøP |øh•øÓ ©ØÖ® Âv BQ¯ÁØøÓ EÒÍhUQ¯ 
vmh® ¤ßÁ¸©õÖ AøÇUP¨£kQÓx 

(A) Budget of marketing 
 ©õºUöPmi[ £möám 

(B) All the options are correct  
 AøÚzx Â¸¨£[PÐ® \›¯õÚøÁ÷¯ 

(C) Programme 
 vmh® 

(D) Strategy 
 Ezv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. The term marketing mix refers to  
\¢øuU P»øÁ ¤ßÁ¸ÁÚÁØÖÒ SÔUQÓx 

(A) An analysis of the micro and macro environment of the 
organisation 

 {ÖÁÚzvß ø©U÷μõ ©ØÖ® ÷©U÷μõ `Ç¼ß £S¨£õ´Ä 

(B) A mixture of various decision to sell more products at any cost
 AvP u¯õ›¨¦PøÍ G¢u Âø»PÎ¾® ÂØP £À÷ÁÖ •iÄPÎß 

P»øÁ 

(C) Customer relationship for longterm profit and gain 
 }sh Põ» »õ£® ©ØÖ® »õ£zvØPõÚ ÁõiUøP¯õÍº EÓÄ 

(D) The combinations of strategic elements to satisfy of market 
needs 

 \¢øu ÷uøÁPøÍ §ºzv ö\´ÁuØPõÚ ‰÷»õ£õ¯ TÖPÎß 
P»øÁ¯õS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. Determining manpower needs of an organisation comes under 
J¸ {ÖÁÚzvß ©ÛuÁÍ ÷uøÁPøÍ {ºn°zuÀ Gß£x 
RÌÁ¸ÁÚÁØÔÀ Gx? 

(A) Organising 
 JÊ[Pø©zuÀ 

(B) Planning  
 vmhªhÀ 

(C) Controlling 
 Pmk¨£õk 

(D) Performance Appraisal 
 ö\¯ÀvÓß ©v¨¥k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. Implementing welfare schemes for employee is of  
FÈ¯ºPÐUPõÚ |»zvmh[PøÍ |øh•øÓ¨£kzxÁx 

(A) Integration function 
 J¸[Qøn¨¦ ö\¯À£õk 

(B) Human resource development function  
 ©ÛuÁÍ ÷©®£õmk ö\¯À£õk 

(C) Procurement function 
 öPõÒ•uÀ ö\¯À£õk 

(D) Compensation function 
 CÇ¨¥k ö\¯À£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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143. Knowledge based organisation witness HR structures as 
AÔøÁ Ai¨£øh¯õPU öPõsh ©ÛuÁÍ Aø©¨¦ 

(A) Sophisticated 
 Av|ÃÚ 

(B) Highly sophisticated  
 ªPÄ® Av|ÃÚ 

(C) Less sophisticated 
 SøÓÁõÚ Av|ÃÚ 

(D) Very low sophisticated 
 ªPÄ® SøÓ¢u Av|ÃÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

144. Process of estimating the future manpower requirements of the 
organisation 
{ÖÁÚzvß GvºPõ» ©ÛuÁÍ ÷uøÁPøÍ ©v¨¤kÁuØPõÚ ö\¯À•øÓ 

(A) Human resource planning 
 ©ÛuÁÍ vmhªhÀ 

(B) Recruitment  
 Bm÷\º¨¦ 

(C) Selection 
 ÷uºÄ 

(D) Placement 
 ÷Áø»Áõ´¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 80

145. The HR department is accurately defined as    
©ÛuÁÍzxøÓ xÀ¼¯©õP Áøμ¯ÖUP¨£mkÒÍx 

(A) Service Department  (B) Functional Department  
 ÷\øÁ¨ ¤›Ä  ö\¯À£õmk¨ ¤›Ä 

(C) Line Department  (D) Authority Department  
 Á›¨ ¤›Ä  AvPõμ¨ ¤›Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. What role does effective communication play in the success of HR
Managers?  
©ÛuÁÍ ÷©»õÍ›ß öÁØÔ°À £¯ÝÒÍ uPÁÀ öuõhº¦ GßÚ £[S 
ÁQUQÓx? 

(A) Minimal role (B) No role 

 SøÓ¢u£m\ £[S  £[S CÀø» 

(C) Important role  (D) Marginal role 
 •UQ¯ £[S  Kμ[Pmh¨£mh £[S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. Which of the following is not a desirable quality of a HR  Manager? 
¤ßÁ¸ÁÚÁØÖÒ Gx J¸ ©ÛuÁÍ ÷©»õÍ¸US ÷uøÁ£hõu uSv  

(A) Empathy  (B) Rigidity  
 £a\õzuõ£®  EÖv¯ØÓ ußø© 

(C) Communication Skills (D) Technical Quality  
 ö©õÈ vÓß  öuõÈÀ~m£ uμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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148. Why are strong decision making skills important for HR  Managers?
©ÛuÁÍ ÷©»õÍºPÐUS Hß Á¾ÁõÚ •iöÁkUS® vÓß •UQ¯®? 

(A) Not important (B) Conflicts of interest  
 •UQ¯©ØÓx  |»ßPÎß ÷©õuÀPÒ 

(C) To avoid making decisions (D) To resolve issues effectively 
 •iÄPøÍ Gk¨£øuz uÂº¨£x  ¤μa\øÚPøÍ vÓ®£h wº¨£x

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

149. Allowances and bonus of the employees are discussed in —————
policy.  
FÈ¯ºPÎß öPõk¨£ÚÄPÒ ©ØÖ® ÷£õÚì BQ¯øÁ ————
öPõÒøP°À ÂÁõvUP¨£kQßÓÚ. 

(A) Payment (B) Revenue 

 öPõkzuÀ  Á¸Áõ´ 

(C) Compensation  (D) Employee engagement  
 CÇ¨¥k  FÈ¯º Dk£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. Compensation Policy doesn’t include 
CÇ¨¥mkU öPõÒøPPÎÀ CvÀ Ah[Põx Gx? 

(A) Gratuity  (B) Awards 

 £oUöPõøh  Â¸xPÒ 

(C) Provident Fund (D) Bonus  
 Á¸[Põ» øÁ¨¦ {v  ÷£õÚì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. Which of the following are the suitable talent retention techniques
for IT Companies in the present day?  
¤ßÁ¸ÁÚÁØÔÀ uØPõ»zvÀ IT {ÖÁÚ[PÐUS ö£õ¸zu©õÚ 
vÓø©ø¯z uUPøÁUS® ~m£[PÒ  

1. 360° appraisal 
 360° ©v¨¥k 

2. ESOP 
 ESOP 

3. Intrapreneurship  
 EÒ •¯Ø] 

4. Flexible work environment  
 ö|QÌÁõÚ £oa`ÇÀ 

(A) 1, 3, 4 only (B) 2, 3, 4 only 

 1, 3, 4 ©mk÷©  2, 3, 4 ©mk÷© 

(C) 1, 2, 3, 4  (D) 3 and 4 only 
 1, 2, 3, 4  3 ©ØÖ® 4 ©mk÷© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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152. ————— can be defined as a written record of the duties,
responsibilities and conditions of a job. 
———— Gß£x J¸ ÷Áø»°ß Phø©PÒ, ö£õÖ¨¦PÒ ©ØÖ® 
{£¢uøÚPÎß GÊzx¨§ºÁ £vÄ GÚ Áøμ¯ÖUP¨£h»õ®.  

1. Job description  
 ÷Áø» ÂÁ›¨¦ 

2. Job specification  
 ÷Áø» SÔ¨¦ ÂÁμ® 

3. Job profile  
 ÷Áø» _¯ ÂÁμ® 

4. Job analysis  
 ÷Áø» £S¨£õ´Ä 

(A) 4 (B) 3 

(C) 1 (D) 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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153. Competitive edge comes from ————— of the employees. 
÷£õmizvÓß Gß£x FÈ¯ºPÎß ———— ¼¸¢x Á¸QÓx. 

1. Competency  
 vÓø© 

2. Efforts 
 •¯Ø]PÒ 

3. Quality  
 uμ® 

4. Hard work  
 PiÚ EøÇ¨¦ 

(A) 3 (B) 4 

(C) 1 (D) 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

154. ————— is not a retrenchment strategy for a business
organisation. 
———— J¸ ÁoP {ÖÁÚzvØPõÚ BmSøÓ¨¦ Ezv AÀ». 

(A) Turn around  (B) Disinvestment  
 ©Ö^μø©¨¦  •u½kPøÍ øPÂkuÀ 

(C) Liquidation  (D) Diversification  
 Pø»¨¦  £ß•P¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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155. What does Unitarism as a human resource management approach
assume?  
©ÛuÁÍ ÷©»õsø© AqS•øÓ¯õP ³Ûh›\® GßÚ P¸xQÓx? 

1. People are individuals and should be treated as such  
 ©UPÒ uÛ|£ºPÒ ©ØÖ® AÁºPÒ AÆÁõÖ P¸u£h ÷Ásk® 

2. People are individuals but should be part of a group  
 ©UPÒ uÛ|£ºPÒ ©ØÖ® J¸ SÊÂß £Sv¯õP C¸UP ÷Ásk® 

3. People in the organisation share the same aims and objectives 
 {ÖÁÚzvÀ EÒÍ ©UPÒ J÷μ ÷|õUP[PøÍ²® SÔU÷PõÒPøÍ²® 

£Qº¢x öPõÒQÓõºPÒ 

4. People in the organisation engage in internal competition   
 {ÖÁÚzvÀ EÒÍÁºPÒ EÒ ÷£õmi°À Dk£kQÓõºPÒ 

(A) 2 (B) 1 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

156. When supervisors use only recent performance information to
evaluate subordinates, this is termed as:  
÷©Ø£õºøÁ¯õÍºPÒ xøn AvPõ›PøÍ ©v¨¤kÁuØS \«£zv¯ 
ö\¯ÀvÓß uPÁø» ©mk÷© £¯ß£kzvÚõÀ, Cx CÆÁõÖ 
AøÇUP¨£kQÓx 

(A) Severity error  (B) Recency error 

 wÂμzußø© ¤øÇ  \«£zv¯ ¤øÇ 

(C) Leniency error (D) Central tendency error 
 uõμõÍ©¯©õUPÀ ¤øÇ  ø©¯¨ ÷£õUS¨ ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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157. Which of the following is not a way of validating a selection test
while recruiting employees?   
£o¯õÍºPøÍ Bm÷\º¨¦ ö\´²® ÷£õx ÷uºÄ B´øÁ \›£õºUP 
¤ßÁ¸® ÁÈPÎÀ Gx CÀø»? 

(A) Concurrent validity  (B) Predictive validity 

 Jzvø¯¢x ö\À½k  •ßPo¨¦a ö\À½k 

(C) Synthetic validity (D) Face validity 
 ö\¯ØøPa ö\À½k  •P¨¦a ö\À½k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. Which of the following is not an activity of a successful recruitment
team?  
¤ßÁ¸ÁÚÁØÖÒ Gx öÁØÔPμ©õÚ Bm÷\º¨¦U SÊÂß J¸ 
ö\¯À£õhÀ»? 

(A) Use job postings to live skills  

 vÓø©PøÍ Bm÷\º¨¦ ö\´¯ ÷Áø»Áõ´¨¦ AÔÂ¨¦PøÍ¨ 
£¯ß£kzx[PÒ  

(B) Use employee referrals 
 FÈ¯ºPÎß £›¢xøμPøÍ¨ £¯ß£kzx[PÒ  

(C) Maintain database of all services   
 AøÚzx Âsn¨£[PÎß uμÄz uÍzøu £μõ©›UPÄ®  

(D) Try to fill vacancy by retraining space resource  
 xøÓ ÁÍ[PøÍ ©Ö£°Ø] ö\´Áuß ‰»® Põ¼¯õP EÒÍ Chzøu 

{μ¨¦ •¯Ø] ö\´²[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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159. Arrange the typical consequences of Realistic job previews in
top-down order :  
•¢øu¯ ¯uõºzu©õÚ ÷Áø»°ß ö£õxÁõÚ ÂøÍÄPøÍ ÷©À – RÌ 
Á›ø\°À HØ£õk ö\´¯Ä® : 

1. Set job expectations realistically  
 ÷Áø» Gvº£õº¨¦PøÍ ¯uõºzu©õP Aø©UPÄ®  

2. Job may or may not be attractive depending on individual 
needs 

 ÷Áø» ÷©»õÍº uÛ¨£mh ÷uøÁPøÍ¨ ö£õÖzx PÁºa]Pμ©õÚuõP 
C¸UPõx 

3. Some accept, some reject job offer 
 ]»º ÷Áø» Áõ´¨ø£ HØP ©ÖUQÓõºPÒ 

4. Work experience confirms expectations  
 £o AÝ£Á® Gvº£õº¨¦PøÍ EÖv¨£kzxQÓx 

5. Higher job survival, satisfaction, no thoughts of quitting  
 AvP ÷Áø» ¤øÇ¨¦ v¸¨v Â»S® Gsn® CÀø» 

(A) 1, 4, 2, 3, 5 (B) 4, 1, 2, 3, 5 
(C) 1, 2, 3, 4, 5 (D) 2, 1, 4, 3, 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. Which of the following is not a Learning and Development future
challenge for a HR department?  
¤ßÁ¸ÁÚÁØÔÀ Gx HR xøÓUPõÚ PØÓÀ ©ØÖ® ÷©®£õmk GvºPõ» 
AøÇ¨¦ AÀ»?  

(A) To support the emergence of intellectual capital   

 AÔÄ\õº ‰»uÚzvß ÷uõØÓzøu Bu›UP ÷Ásk®  

(B) To continue enhancing the contribution of learning and 
development division  

 PØÓÀ ©ØÖ® ÷©®£õmk ¤›Âß £[PÎ¨ø£z öuõhº¢x 
÷©®£kzxuÀ 

(C) To ensure the learning and development practitioner is a 
business partner   

 PØÓÀ ©ØÖ® ÷©®£õmk £°Ø]¯õÍº ÁoP £[PõÎ¯õP C¸¨£øu 
EÖv ö\´¯  

(D) To promote classroom based training to improve performance 
 ö\¯À vÓøÚ ÷©®£kzu ÁS¨£øÓ Ai¨£øh°»õÚ £°Ø]ø¯ 

FUSÂUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. The relationship between the maturity of debt and its cost is called  
PhÛß •vºÄUS® Auß ö\»ÄUS® Cøh°»õÚ EÓÄ ———— GßÖ 
AøÇUP¨£kQÓx. 

(A) Term structure of interest rates  

 Ámi ÂQu[PÎß Põ» Aø©¨¦   

(B) Average rate of interest  
 \μõ\› Ámi ÂQu® 

(C) Interest rate of interest    
 EÒ Ámi ÂQu®  

(D) Investment interest rates  
 •u½mk Ámi ÂQu[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. From the following choose the correct formula for Required Rate of 
Return (RRR)  
¤ßÁ¸ÁÚÁØÔ¼¸¢x ÷uøÁ¯õÚ Á¸©õÚ ÂQuzvØPõÚ \›¯õÚ 
`zvμzøu ÷uº¢öukUPÄ®  

(A) RRR = Risk Premium + Time Value of Money   

 RRR = B£zx ¤›«¯® + £nzvß Põ» ©v¨¦  

(B) RRR = Internal rate + Risk-Free rate 

 RRR = EÒ ÂQu® + B£zx CÀ»õu ÂQu® 

(C) RRR = Risk-Free rate + Risk premum   
 RRR = B£zx CÀ»õu ÂQu® + B£zx ¤›«¯®  

(D) RRR = Risk-Free rate + Internal rate 

 RRR = B£zx CÀ»õu ÂQu® + EÒ ÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. —————— is a fund which is created out of fixed payments each
period to accumulate to a future sum after a specified period. 
—————— Gß£x J¸ SÔ¨¤mh Põ»zvØS® ¤ÓS GvºPõ» 
öuõøPUSU SÂUP JÆöÁõ¸ Põ»Pmhzv¾® {ø»¯õÚ 
öPõk¨£ÚÄPÎ¼¸¢x E¸ÁõUP¨£mh J¸ {v¯õS®. 

(A) Mutual fund (B) Discount fund 

 £μì£μ {v  uÒÐ£i {v 

(C) Corpus fund (D) Sinking fund 
 {v¯ ‰»uÚ®  ‰ÌS® {v 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. The short-term financing period is  
SÖQ¯ Põ»® {v¯Î¨¤ß Põ» Áμ®¦ GßÚ? 

(A) 1 to 2 years  

 1 •uÀ 2 Á¸h® 

(B) ≤ 1 year 
 1 Á¸h® AÀ»x –1 Á¸hzxUS® RÌ 

(C) 1 to 3 years  
 1 •uÀ 3 Á¸h® 

(D) 1 to 5 years 
 1 •uÀ 5 Á¸h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. The total shareholder’s equity (or) share capital is called 
ö©õzu £[SuõμºPÎß ö\õ¢u ‰»uÚ® AÀ»x £[S ‰»uÚ® —————
GßÖ AøÇUP¨£kQÓx. 

(A) Net worth (B) Working capital 

 {Pμ ©v¨¦  |h¨¦ •u½k 

(C) Current Assets (D) Permanent capital 
 |h¨¦a ö\õzx  {μ¢uμ ‰»uÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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166. What are the two components of issue price? 
öÁÎ±mk Âø»°ß Cμsk TÖPÒ ¯õøÁ? 

(A) Market value and share premium 
 \¢øu ©v¨¦ ©ØÖ® £[S ¤Ÿª¯® 

(B) Fixed value and share capital 
 {ø»¯õÚ ©v¨¦ ©ØÖ® £[S ‰»uÚ® 

(C) Par value and share premium 
 \© ©v¨¦ ©ØÖ® £[S ¤Ÿª¯® 

(D) Floating value and income 
 ªuUS® ©v¨¦ ©ØÖ® Á¸©õÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

167. The value of a firm’s shares (equity), is the discounted value of
shareholder’s earnings called 
J¸ {ÖÁÚzvß £[SPÎß ©v¨¤À C¸¢x uÒÐ£i ö\´¯¨£mh 
£[SuõμºPÎß Á¸©õÚzvß ©v¨¦ —————— GßÖ AøÇUP¨£k®. 

(A) Total income (B) Gross income 

 ö©õzu Á¸©õÚ®  öuõS Á¸©õÚ® 

(C) Average income (D) Net income 
 \μõ\› Á¸©õÚ®  {Pμ Á¸©õÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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168. From the following which one is not a source of long term financing?
¤ßÁ¸ÁÚÁØÖÒ Gx }sh Põ» {v Buõμ©õP CÀø»? 

(A) Debentures (B) Preference share capital 

 Phß £zvμ[PÒ  •ßÝ›ø© £[S ‰»uÚ® 

(C) Commercial paper (D) Ordinary share capital 
 ÁoP¨ £zvμ®  \õuõμn £[S ‰»uÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. Choose the right matches among objectives of Financial
Management : 
{v {ºÁõPzvß ÷|õUP[PÐUQøh°À \›¯õÚ ö£õ¸zu[PøÍz 
÷uº¢öukUPÄ® : 

(i)  Profit maximization – It fails to take into account the 
social responsibilities to various 
group of people 

  C»õ£ AvP›¨¦ – £À÷ÁÖ SÊUPÎß \‰P¨ 
ö£õÖ¨¦PøÍ PnUQÀ GkzxU 
öPõÒÍz uÁÔÂmhx 

(ii) Evaluation of finance 

  Performance – This incomes analysis of major 
trends in the stock market 

  {v ö\¯ÀvÓß ©v¨¥k – Cx £[Sa \¢øu°ß •UQ¯ 
÷£õUSPøÍ £S¨£õ´Ä ö\´Áøu 
EÒÍhUQ¯x 

(iii) Financial Negotiation – It is for outside financing often 
required specialized skills 

  {v ÷£a_Áõºzøu  – Cx öÁÎ¨¦Ó {v²uÂUS 
ö£¸®£õ¾® ]Ó¨¦ vÓßPÒ 
÷uøÁ¨£k® 

(iv) Wealth Maximisation – The earning per share of the 
company 

 ö\ÀÁ AvP›¨¦ – {ÖÁÚzvß J¸ £[SUPõÚ 
Á¸©õÚ® 

(A) (ii) and (iv) are correct (B) (i) and (iv) are correct 

 (ii) ©ØÖ® (iv) \›¯õÚøÁ  (i) ©ØÖ® (iv) \›¯õÚøÁ 

(C) (i) and (iii) are correct (D) (ii) and (iii) are correct 
 (i) ©ØÖ® (iii) \›¯õÚøÁ  (ii) ©ØÖ® (iii) \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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170. —————— refers to the amount of money on which interest is
received. 
—————— Ámi¯õP ö£Ö® £nzvß AÍøÁU SÔUQÓx. 

(A) Compound interest (B) Principal 

 Tmk Ámi  Phß •uÀ 

(C) Simple interest (D) Time value of money 
 GÎ¯ Ámi  £nzvß Põ» ©v¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. Which are the sources of valuation of ordinary shares? 
\õuõμn £[SPÎß ©v¨¥mk Buõμ[PÒ GøÁ? 

(i) Required rate or return 
 ÷uøÁ¯õÚ Á¸©õÚ ÂQu® 

(ii) Constant required return 
 {ø»¯õÚ Á¸©õÚ ÂQu® 

(iii) Changing required return 
 ©õÖ® Á¸©õÚ ÂQu® 

(iv) Expected return 
 Gvº£õºUP¨£k® Á¸©õÚ® 

(A) (iii) only (B) (i) and (iv) only 

 (iii) ©mk®  (i) ©ØÖ® (iv) ©mk® 

(C) (ii) and (iii) only (D) (i) and (ii) only 
 (ii) ©ØÖ® (iii) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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172. This is a measure of risk which is found by subtracting the
pessimistic (worst) outcome from the optimistic (best) outcome. 
Cx |®¤UøP¯ØÓ (÷©õ\©õÚ) •iøÁ |®¤UøP²ÒÍ (]Ó¢u) 
•iÂ¼¸¢x ÂÍUSÁuß ‰»® Põn¨£k® B£zx AÍÃhõS®. 

(A) Return (B) Probability distribution 

 «ÒÁμÄ  {PÌuPÄ Â{÷¯õP® 

(C) Risk (D) Range 
 Chº ÁμÄ  Ãa_ Áμ®¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

173. Premium is the amount by which a bond sells at a value higher than
its par/face value 
¤›ª¯® Gß£x J¸ £zvμ® Auß \©/ö£¯μÍÄ ©v¨ø£ Âh AvP 
©v¨¤À ÂØP¨£k® öuõøP 

(A) Impact of maturity on bond value 
 £zvμ ©v¨¤À •vºa]°ß uõUP® 

(B) Yield to maturity 
 •vºa]°ß Á¸©õÚ® 

(C) Impact of required return on bond values 
 £zvμ ©v¨¦PÎÀ ÷uøÁ¯õÚ Á¸©õÚzvß uõUP® 

(D) Semi annual and Bond values 
 Aøμ¯õsk ©ØÖ® £zvμ ©v¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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174. Compute the present value of a perpetuity of Rs.100 years if the
discount rate is 10 percent 
uÒÐ£i ÂQu® 10 \uÃu©õP C¸¢uõÀ ¹.100, BskPÎß {μ¢vμzvß 
uØ÷£õøu¯ ©v¨ø£ PnUQk[PÒ 

(A) 1,100 (B) 1,110 

(C) 1,000 (D) 100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. Assets normally comprises of long-term assets which will yield 
return over a period of time in future 
ö\õzxUPÒ ö£õxÁõP }shPõ» EuÂPøÍ EÒÍhUQ¯x Cx 
GvºPõ»zvÀ J¸ SÔ¨¤mh Põ»zvØSÒ Á¸©õÚzøu AÎUS® 

(A) Capital budgeting (B) Finance decision 

 ‰»uÚ ÁμÄ ö\»Äz vmh®  {v •iÄ 

(C) Dividend decision (D) Investment decision 
 DÄzöuõøP •iÄ  •u½mk •iÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. Match correctly the following factors with their corresponding scope 
of finance function 
{v ö\¯À£õmiß öuõhº¦øh¯ ÷|õUPzxhß PõμoPøÍ \› ö\´uÀ 
ö£õ¸zxP : 

(1) The evaluation of the worth – Finance decision  
 of a long term project 
 J¸ }shPõ» vmhzvß  – {v •iÄ  
 ©v¨ø£ ©v¨¥k ö\´uÀ 

(2) Effective Management of the – Dividend decision   
 individual current assets   
 such as cash 
 öμõUP® ÷£õßÓ uÛ¨£mh  – DÄzöuõøP •iÄ   
 uØ÷£õøu¯ ö\õzxUPøÍ   
 vÓ®£h {ºÁQzuÀ 

(3) A proper balance will have to – Capital budgeting   
 be struck between return   
 and risk 
 ›mhß ©ØÖ® ›ìU Cøh÷¯  – ‰»uÚ¨ £õwkÁSzuÀ  
 \›¯õÚ \©{ø»ø¯ HØ£kzu   
 ÷Ásk® 

(4) The Finance Manager should – Working capital   
 also consider the question of   Management 
 dividend stability 
 {v ÷©»õÍº DÄzöuõøP  – |h¨¦ ‰»uÚ ÷©»õsø©  
 {ø»zußø©°ß ÷PÒÂø¯²®   
 P¸zvÀ öPõÒÍ ÷Ásk® 

(A) (3), (4), (1), (2) (B) (2), (4), (3), (1) 

(C) (4), (3), (1), (2) (D) (2), (3), (4), (1) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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177. Choose the right answer among type which of the following
statement are true about key activities of the Financial Manager? 
{v ÷©»õÍ›ß •UQ¯ ö\¯À£õkPÒ £ØÔ ¤ßÁ¸® TØÖPÎÀ Gx 
Esø©? 

(1) Making investment decision 
 •u½mk •iøÁ Gk¨£x 

(2) Wealth maximisation decision 
 ö\ÀÁzøu AvP›¨£uØPõÚ •iÄ 

(3) Profit maximisation decision 
 »õ£zøu AvP›¨£uØPõÚ •iÄ 

(A) (2) and (3) only (B) (1) only 

 (2) ©ØÖ® (3) ©mk®  (1) ©mk® 

(C) (1) and (3) only (D) (1) and (2) only 
 (1) ©ØÖ® (3) ©mk®  (1) ©ØÖ® (2) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. They protect the owners against the potential consequences of
dishonest acts by Management 
{ºÁõPzvß ÷|ºø©¯ØÓ ö\¯ÀPÎß \õzv¯©õÚ ÂøÍÄPÐUS GvμõP 
AøÁ E›ø©¯õÍºPøÍ¨ £õxPõUQßÓÚ 

(A) Opportunity cost (B) Structuring expenditure 

 Áõ´¨¦ ö\»Ä  Pmhø©¨¦a ö\»ÄPÒ 

(C) Bonding expenditure (D) Monitoring expenditure 
 ¤øn¨¦a ö\»ÄPÒ  PsPõo¨¦a ö\»ÄPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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179. The legal and accounting relationships between a firm and its 
sources of funds 
J¸ {ÖÁÚzvØS® Auß {v Buõμ[PÐUS® Cøh°»õÚ \mh ©ØÖ® 
PnUQ¯À EÓÄPÒ 

(A) Traditional approach  

 £õμ®£›¯ AqS•øÓ  

(B) Limitation of traditional approach 
 £õμ®£›¯ AqS•øÓ°ß Áμ®¦ 
(C) Modern approach  
 |ÃÚ AqS•øÓ  

(D) Limitation of modern approach 
 |ÃÚ AqS•øÓ°ß Áμ®¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. –––––––––– activity manage the financial affairs any type of business.
–––––––––– ö\¯À£õk {v ÂÁPõμ[PøÍ G¢u ÁøP¯õÚ ÁoPzøu²® 
{ºÁQUQÓx. 

(A) Financial services (B) Marginal analysis 

 {va ÷\øÁPÒ  {ºÁõP £S¨£õ´Ä 

(C) Financial manager (D) Stake holders 
 {v ÷©»õÍº  £[SuõμºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. The –––––––––– following is a characteristic feature of MIS. 
¤ßÁ¸ÁÚÁØÔÀ MIS Cß ]Ó¨¤¯À¦ A®\® GøÁ? 

(A) Data processing irrespective of the organizational structure  

 {ÖÁÚ Pmhø©¨ø£ ö£õ¸m£kzuõ©À uμÄ ö\¯»õUP®  

(B) Providing information in a non-timely manner  
 \›¯õÚ ÷|μ[PÎÀ uPÁÀPøÍ ÁÇ[SuÀ 

(C) Focused solely past information   
 Ph¢u Põ» uPÁÀPÎÀ ©mk÷© PÁÚ® ö\¾zxuÀ  

(D) Integrating data from various sources for better decision 
making 

 ]Ó¢u •iöÁk¨£uØPõP £À÷ÁÖ Buõμ[PÎÀ C¸¢x uμøÁ 
J¸[QønzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. Which technology is used commonly in an MIS for data analysis?  
uμÄ £S¨£õ´ÂØPõP MIS CÀ ö£õxÁõP £¯ß£kzu¨£k® öuõÈÀ 
~m£® Gx? 

(A) Business Intelligence (BI) tools  

 ÁoP ~snÔÄ  

(B) Text editors 
 P¸ÂPÒ 

(C) Gaming engines  
 ÂøÍ¯õmk C¯¢vμ[PÒ  

(D) Graphic design software 
 ÁøμPø» ÁiÁø©¨¦ ö©ßö£õ¸mPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. Who typically uses MIS in an organization? 
J¸ {ÖÁÚzvß MIS I¨ £¯ß£kzx£ÁºPÒ ¯õº? 

(A) Only the IT department  

 uPÁÀ öuõÈÀ~m£z xøÓ ©mk®  

(B) Only top level executives 
 E¯º©mh {ºÁõQPÒ ©mk® 

(C) Managers at all levels  
 AøÚzx ©mh[PÎ¾® EÒÍ ÷©»õÍºPÒ 

(D) Only external stock holders 
 öÁÎ £[SuõμºPÒ ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. The most important reason for the failure of MIS 
MIS ß ÷uõÀÂUS ªP •UQ¯©õÚ Põμn® 

(A) Users involvement from the initial phase of department  

 ÁÍºa]°ß Bμ®£U PmhzvÀ C¸zx £¯nºPÎß Dk£õk  

(B) Non involvement of user 
 CÖv £¯Ú›ß £[PÎ¨¦ CÀ»õux 
(C) Documentation of specification  
 ÂÁμUSÔ¨¦ BÁn[PÒ  

(D) All of these 
 CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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185. Cloud -based MIS solutions offer the advantages of 
÷©PUPo Ai¨£øh°»õÚ MIS wºÄPÒ ¤ßÁ¸® |ßø©PøÍ 
ÁÇ[SQßÓÚ? 

(A) Higher initial cost  

 AvP Bμ®£ ö\»Ä  

(B) Limited accessibility 
 Áøμ¯¸UP¨£mh AqSuÀ ußø© 
(C) Scalability and flexibility  
 AÍÂkuÀ ©ØÖ® ö|QÌÄz ußø©  

(D) Decreased collaboration 
 JzxøÇ¨¦ SøÓuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. Days critical activities and its typically available at the beginning of 
the each work day is 
•UQ¯ |õmPÒ ©ØÖ® JÆöÁõ¸ ÷Áø» |õÎß öuõhUPzv¾® Cx 
ö£õxÁõPU QøhUS® 

(A) Demand report (B) Scheduled report 

 ÷uøÁ AÔUøP  vmhªmh AÔUøP 

(C) Key-indicator report (D) Exception report 
 •UQ¯ SÔPõmi AÔUøP  ÂvÂ»US AÔUøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. Which of the following SDLC’S listed below takes an inactive
approach to the systems development process? 
¤ßÁ¸ÁÚÁØÔÀ G¢u SDLC’S Aø©¨¦PÎß ÷©®£õmk ö\¯À•øÓUS 
J¸ ö\¯»ØÓ AqS•øÓø¯z öPõskÒÍx. 

(A) End users (B) Rad 

 CÖv¨ £¯nº  ÷μm 

(C) Proto typing (D) Traditional waterfall 
 •uß ©õv› E¸ÁõUP®  £õμ®£›¯ }ºÃÌa] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. During the software development which is the factor is most crucial?
ö©ßö£õ¸Ò E¸ÁõUPzvß ÷£õx G¢u Põμo ªPÄ® •UQ¯©õÚx? 

(A) People (B) Process 

 ©UPÒ  ö\¯À•øÓ 

(C) Product (D) Project 
 u¯õ›¨¦  vmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. Accounting, finance, marketing and human resource are known as
–––––––––– 
PnUQ¯À, {v, \¢øu¨£kzxuÀ, ©ØÖ® ©ÛuÁÍ[PÒ GøuU SÔUQßÓÚ.

(A) Executive information systems   

 {ºÁõP uPÁÀ Aø©¨¦PÒ  

(B) Functional business areas 
 ö\¯À£õmk ÁoP £SvPÒ 

(C) Geographic information system  
 ¦Â°¯À uPÁÀ Aø©¨¦  

(D) Local information system 
 EÒÐº uPÁÀ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. Information system that monitor the elementary activities and 
transaction of the organizations is called –––––––––– 
{ÖÁÚ[PÎß Ai¨£øh |hÁiUøPPÒ ©ØÖ® £›ÁºzuøÚPøÍ 
PsPõoUS® uPÁÀ Aø©¨ø£ –––––––––– GßÖ TÓ»õ®. 

(A) Management level system  

 ÷©»õsø© ©mh Aø©¨¦  

(B) Operational level system 
 ö\¯À£õk {ø» Aø©¨¦ 

(C) Knowledge level system  
 AÔÄ{ø» Aø©¨¦  

(D) Strategic level system 
 ‰÷»õ£õ¯ {ø» Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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191. –––––––––– provides cross-enterprise system to system integration,
online buying and selling. 
J¸[Qøn¨¦, Bßø»ÛÀ Áõ[SuÀ ©ØÖ® ÂØ£øÚUS SÖUS {ÖÁÚ 
Aø©¨ø£ ÁÇ[SQÓx. 

(A) E-procurement (B) E-collaboration 

 Cøn¯ öPõÒ•uÀ  Cøn¯ JzxøÇ¨¦ 

(C) Integrated planning (D) Integrated delivery 
 J¸[Qøn¢u vmhªhÀ  J¸[Qøn¢u Â{÷¯õP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

192. E-commerce has increased the focus on customer satisfaction and 
delivery ––––––––––. 
ªßÚÝ ÁºzuPzvß ÁõiUøP¯õÍº v¸¨v ©ØÖ® Â{÷¯õPzvÀ PÁÚ® 
ö\¾zxQÓx. 

(A) Fulfilment   

 {øÓÄ  

(B) Getting browsers to buy things  
 ö£õ¸mPøÍ Áõ[P E»õÂPøÍ¨ ö£ÖuÀ 

(C) Building customer trust/privacy  
 ÁõiUøP¯õÍº |®¤UøP/uÛ²›ø©ø¯ E¸ÁõUSuÀ  

(D) Building customers Loyalty 
 ÁõiUøP¯õÍº Â_Áõ\zøu E¸ÁõUSuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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193. These exchanges can involves a third-party involvement, which can 
facilitate and provide the infrastructure 
C¢u £›©õØÓ[PÒ ‰ßÓõ® uμ¨¤Ú›ß Dk£õmøh EÒÍhUQ¯x. Cx 
EÒPmhø©¨ø£ GÎuõUQ ÁÇ[P •i²®. 

(A) Customer-to business  

 ÁõiUøP¯õÍ›h® C¸¢x ÁoP®   

(B) Customer-to-customer-to-peer  
 ÁõiUøP¯õÍ›h® C¸¢x ÁõiUøP¯õÍ›h® C¸¢x J¨£õÚÁº 

(C) Business-to-business  
 ÁoPzvhª¸¢x ÁoP®  

(D) Business-to-government 
 ÁoPzvhª¸¢x Aμ\õ[P® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. –––––––––– is the receiving and ware housing of raw materials, and
their distribution to manufacturing , as they are required. 
–––––––––– Gß£x ‰»¨ö£õ¸mPøÍ¨ ö£ÖuÀ ©ØÖ® ÷\ªzuÀ ©ØÖ® 
AøÁ ÷uøÁ¨£k® ÷£õx EØ£zvUS Â{÷¯õQzuÀ. 

(A) Procurement (B) Operations 

 öPõÒ•uÀ  ö\¯À£õkPÒ 

(C) Inbound logistics (D) Out bound logistics 
 EÒÁ¸® uÍÁõh[PÒ  öÁÎaö\À¾® uÍÁõh[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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195. From a –––––––––– e-commerce provides a gathering place for 
community members to learn transact and collaborate. 
J¸ –––––––––– ªßÚÝ ÁºzuP® \‰P EÖ¨¤ÚºPÒ £›ÁºzuøÚ ©ØÖ® 
JzxøÇUP PØÖUöPõÒÍ J¸ Tmh® Ch® ÁÇ[SQÓx. 

(A) Communication perspective (B) Collaborative perspective 

 uPÁÀ öuõhº¦ •ß÷ÚõUS  Tmk¨ £õºøÁ 

(C) Commercial perspective (D) Community perspective 
 ÁoP •ß÷ÚõUS  \‰P Ps÷nõmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

196. Sending extremely critical derogatory, and vulgar email message is
called  
ªPÄ® Â©º\Ú, CÈÄ£kzx®, ©ØÖ® A][P©õÚ ªßÚg\À ö\´vPøÍ 
AÝ¨¦Áx Gß£x 

(A) Phishing  (B) Trolling 

 L¤æ[  m÷μõ¼[ 

(C) Flaming (D) Spamming 
 ¤÷»ª[  ì÷£ª[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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197. Ensures that proper e-commerce transactions, decisions and
activities are performed to serve you more efficiently. 
\›¯õÚ ªß ÁoP £›ÁºzuøÚPÒ, •iÄPÒ ©ØÖ® ö\¯À£õkPÒ 
E[PÐUS ªPÄ® vÓø©¯õP ÷\øÁ ö\´¯¨£kÁøu EÖv ö\´QÓx. 

(A) Personalizing (B) Collaboration and trading 

 uÛ¨£¯ÚõUP®  JzxøÇ¨¦ ©ØÖ® ÁºzuP® 

(C) Optimizing (D) Profiling 
 ÷©®£kzxuÀ  _¯ÂÁμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. A process aimed at improving the volume and /or quality of traffic to
a website is called ––––––––––. 
J¸ Áø»zuÍzvØS Á¸® ÷£õUSÁμzvß AÍÄ ©ØÖ® /AÀ»x uμzøu 
÷©®£kzxÁøu ÷|õUP©õPU öPõsh J¸ ö\¯À•øÓ –––––––––– BS®. 

(A) Search Engine Marketing  

 ÷ukö£õÔ \¢øu¨£kzuÀ  

(B) Search Engine Optimization  
 ÷ukö£õÔ EP¨£õUP® 
(C) Web traffic Optimization   
 Cøn¨ ÷£õUSÁμzøu ÷©®£kzxuÀ  

(D) Continuous Optimization 
 öuõhºa]¯õÚ EP¨£õUP® 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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199. Tracks your web site behaviour to provide you with an
individualized web store experience are ––––––––––. 
Gx uÛ¨£¯ÚõUP¨£mh Cøn¯uÍ AÝ£Ázøu E[PÐUS ÁÇ[P 
E[PÒ Áø»zuÍ |hzøu PsPõoUQÓx. 

(A) Traffic management  

 ÷£õUSÁμzx ÷©»õsø©  

(B) Search management 
 ÷uhÀ ÷©»õsø© 
(C) Profiling and personalizing   
 _¯ÂÁμ¨£kzuÀ ©ØÖ® uÛ¨£¯ÚõUP®  

(D) Behaviour management 
 |hzøu ÷©»õsø© 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. Companies that serve as intermediaries in e-commerce transactions 
is called ––––––––––. 
ªßÚÝ ÁºzuP £›ÁºzuøÚPÎÀ CøhzuμPºPÍõP ö\¯À£k® 
{ÖÁÚ[PÒ –––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) E-commerce integration (B) E-commerce channel 

 ªßÚÝ ÁºzuP J¸[Qøn¨¦  ªßÚÝ ÁºzuP ÷\ÚÀ 

(C) Infomediaries (D) Online community 
 uPÁÀ FhP[PÒ  Cøn¯ÁÈ \‰P® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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